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Question Number : 1 Question Id : 7532291417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

WA, RY, ?, HU, CS
Options :
1. ¥ MX
2. % NX
3. ¥ MW
4. % NW



Question Number : 1 Question Id : 7532291417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3fIepd fear T 8, fod @ o ue g ¢ | iU U fawed! & 3§ 98 Wgt fadwed gi-g, St 3igehd &l [T |

WA, RY, ?, HU, CS
Options :
1. ¥ MX
2. % NX
3. ¥ MW
4. % NW

Question Number : 2 Question Id : 7532291418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. Cacographer
2. Cacodaemon
3. Cacographic
4. Cadaverines
5. Caddisflies

Options :

1. % 23145
2.9 21345
3. % 42135
4. % 21354

Question Number : 2 Question Id : 7532291418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeTRad el 1 AeGhIN H S dTdl hH & IR ferd |

1. Cacographer




2. Cacodaemon
3. Cacographic
4. Cadaverines
5. Caddisflies

Options :

1. # 23145
2. % 21345
3. % 42135
4, % 21354

Question Number : 3 Question Id : 7532291419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word pair from the given alternatives.
Options :

1. # Dog — Bark

2. ¥ Meow — Cat

3. % Horse — Neigh

4. % Lion — Roar

Question Number : 3 Question Id : 7532291419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy ¥ fqu e fawed! & 3 faww 2rsg g &1 gl
Options :

1. % gl - HiT

2. ¥ WIS, — ot

3. % Higl - feAfegm

4. % 1 - qere

Question Number : 4 Question Id : 7532291420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related words from the given alternatives.

Rat : Hole :: Bird : ?
Options :

1. ¥ Nest

2. # Stable

3. # Den

4. % Web

Question Number : 4 Question Id : 7532291420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad us  fau e fasedl o 9 deifrd 2red) &1 g
ags’r:ﬁﬁ::q&ﬁ:?

Options :
1. ¢ 9iga
2. % 3
3. % 1[I
4, % STl

Question Number : 5 Question Id : 7532291421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a group of letters is given. The letters of each group are related with the letters of the same group by some
Logic/Rule/Relation. From the given alternatives, select a group of letters which follows the same Logic/Rule/Relation.

(VB, YH, BN)

Options :

1. # (BD, EL, HP)

2. % (NT, QZ, TF)

3. % (JU,MA, QG)

4. % (SC,VL YP)



Question Number : 5 Question Id : 7532291421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffaa uy & e &1 ue I4g e a1 8 | Ude THg & 3R I IHE & 31eRl & wiy fryg ad/Maudey ¥ gefia g1 fad e
fqemedl T 9 31&RI I Uh THE P! T ol THMH qob/HaH/ A BT IR0 Hll 8|

(VB, YH, BN)

Options :

1. ® (BD, EL, HP)

2. ¥ (NT, QZ, TF)

3. % (JU, MA, QG)

4. % (SC, VL, YP)

Question Number : 6 Question Id : 7532291422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘“Where are you going’ is written as ‘@ # & $’, ‘I am going’ is written as ‘* $ +’, “You and i go’ is written as ‘b @ *
a’. What is the code for ‘go and going’ in that code language?

Options :
1. % ab*
2. % bak&
3.8%ba
4. % Sa#

Question Number : 6 Question Id : 7532291422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fafRIY B8 U H, “Where are you going’ Gal ‘@Q#H &S ﬁ‘IETGlT(_‘IT%, ‘I am going’ DI * g+ %IETGIT(_‘IT%, “You and i go’ DI b @*a
foraT ST B EREACRLIE ‘go and going’ HTDHIS T G?

Options :

1. % ab*

2. % bak



3.9$ba
4. % Sa#

Question Number : 7 Question Id : 7532291423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five men M1, M2, M3, M4 and M5 live on five different floors of a same building (not necessarily in the same order). The lower most floor is
numbered 1, the floor just above it is numbered 2 and so on. No two men lives on the same floor. M3 lives on the even numbered floor. M1 lives
just below M3. M4 does not live on the top most floor. Two men live between M1 and M5. How many men live between M2 and M4?

Options :
1.#*0
2.¥ 1
3.% 2
4. %3

Question Number : 7 Question Id : 7532291423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Q8 M1, M2, M3, M4 TUT M5 U 1 SR &1 Uie fafie HiTel IR 384 & (SResl 181 o1 330t 551 B &) | qad =it Hird a1 TRey 1
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N

Options :

1. %0

2.9 ]

3. %2

4. %3

Question Number : 8 Question Id : 7532291424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven boxes B1, B2, B3, B4, B5, B6 and B7 have different heights. The height of B3 is more than the height of B4 and B6. The height of B7 is
more than the height of B3 and B5. The height of B5 is less than the height of B4. The height of B6 is more than the height of B1 and B2. The



height of B1 is not the least. The height of only three boxes is more than the height of B5. How many boxes have more height than the height of
B1?

Options :
1. # Three
2. % Two
3. ¥ Five

4. * Four

Question Number : 8 Question Id : 7532291424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I1d §91 B1, B2, B3, B4, B5, B6 AU B7 &1 fafie 3418 €1 B3 1 $aTs B4 TUT B6 &1 $dTs 9 31fU% 31 B7 Bt HdTs B3 dUTB5 Bl SR
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Options :

1. % dF

2. % Q

3. ¢ U

4. % IR

Question Number : 9 Question Id : 7532291425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘A + B’ means ‘A is the sister of B’, ‘A x B’ means ‘A is the daughter of B’, ‘A + B’ means ‘A is the brother of B’, ‘A * B’ means ‘A is the
mother of B” and ‘A @ B’ means ‘A is the father of B’, then which of the following expression represents J as the uncle of M?

Options :

l.*# [+]J+-K*L@M
2.% I+J@K*L+M
3.9 IxJ+-K@L+M
4. % I xJ+K*L@M

Question Number : 9 Question Id : 7532291425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g A+ B BIMF A, BB TG0, ‘AxB BTN A, BHITRG, ‘A+B B3I A,BHIUR®, ‘A * B BT 3 ‘A, B AT U
‘A@B P13 A, B FHTUar 3, d FufalRed & @ o9 1 sdoie 1 1 M &1 =T S2idl g2

Options :

.®[+J+K*L@M

2. % [+J@K*L+M

3. Ix]J-K@L+M

4. % [xJ+K*L@M

Question Number : 10 Question Id : 7532291426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. NoTis G.
II. All G are P.

Conclusions:
I. Some P are not T.
II. Some G are not T.

Options :

1. # Only conclusion I follows

2. % Only conclusion II follows

3. % Both conclusion I and II follows

4. % Neither conclusion follows

Question Number : 10 Question Id : 7532291426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R feu U Uy H $B HUT 3R 3% d1e 3T HYAl W 3NUiRd $2 Fswd 3w mu 7| fou T sy &) 98t 7, 71 3 9 91d axt
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Options :

1. % PHad FpY | SFIER0T el §
2. % I DY [1 STV BT §
3. ¢ 1 s [ T 11 SR A §
4. % I U FISHY SR T8I HRaT §

Question Number : 11 Question Id : 7532291427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements

to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some A are Q.
II. Some T are A.
III. No A is P.

Conclusions:

I. Some P are not T.
II. Some P are not Q.
III. Some T are not P.

Options :
1. # Only conclusion I follows
2. # Only conclusion II follows

3. % Only conclusion III follows



4. % Both conclusion I and III follows

Question Number : 11 Question Id : 7532291427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T AU U Uy H 8 U 3R I 918 31 HUHI IR AUNRG & (5pY 3T T4 § 1 3T T H2= &1 981 aM, 918 S8 Qg 1 9
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Options :

1. % Had FHY | 3FIER0T el §

2. % Had BN 11 SR Hal §

3. ¢ Had fAhY 111 3R &l §

4. % G fepe 1 T 111 3FIRRU X &

Question Number : 12 Question Id : 7532291428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If5A3=18and 16 A5=85,then9 A 16="
Options :

1. % 146

2. % 156

3. % 144

4.9 160



Question Number : 12 Question Id : 7532291428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AESA3=18TAUTI6AS5=85B,MIA16="2
Options :

1. #* 146

2. % 156

3. % 144

4.+ 160

Question Number : 13 Question Id : 7532291429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.

16 | 13
15 | 12

13 | 26

Lh

145
108
234

g [

Options :
1. % 4
2.% 5
3.6
4. % 17

Question Number : 13 Question Id : 7532291429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad uy o fau e faem el & 9 vy firg (2) & RIM WR 3 dTell S=A1 1 g



16 | 13
15 | 12
13 | 26

Ln

145
108
234

NS

Options :
1. % 4
2.% 5
3.6
4. %17

Question Number : 14 Question Id : 7532291430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many earth are sea but not sun?

Sun

V4

48

\ Earth

Sea

Options :
1.¥ 17
2. % 28
3. % 45
4. % 97

Question Number : 14 Question Id : 7532291430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fopaTt gedt, 9% & Reg 9 e 87

Options :
1.¥ 17
2. % 28
3. % 45
4, % 97

Question Number : 15 Question Id : 7532291431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is correct?

I. The number of apples which are only mangoes is 6.
II. The number of bananas which are not mangoes is 63.



—— Banana

Mango

Options :

1. ¥ Only I

2. % Only II

3. % BothIand II
4. # Neither I nor II

Question Number : 15 Question Id : 7532291431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRT T 3 o & YR W, Fafifad # 4 & 91 Hu= 981 2

1. 98 O Sl pad AMH S, DI T 6 B
1. 98 Sl Sl 37 781 §, B! T3 63 B



Options :

1. Had |

2. % Had II

3. % [ qUT I
4. % qEIIATR I

Question Number : 16 Question Id : 7532291432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man walks 10 km straight. He turns to the left and walks 25 km. He turns to the right and walks 12 km. He again turns to the right and walks
15 km. He turns to the left and walks 20 km. Finally he turns to the left and walks 25 km. If now he is facing towards north, then in which
direction would he start walking?

Options :
1. ¥ East
2. % West
3. # North
4. #* South

Question Number : 16 Question Id : 7532291432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH T 10 foo. Y. Ttem Ierar 8 | a8 S 3R g&oT ¢ a1 25 fob. Y. Iarar 8| 98 Gl 3R gadT ¢ o 12 fob. T, Iaar 81 98 I: il 8iR



g 8 T 15 fob. . Iar ¢ | 98 a1l 3R gadT & T 20 fob. Y. Iar g | 3idd: a8 arit iR gdT & a1 25 {1t Tarar 5| afe sra a8
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Options :
.Y qd
2. % Uigy
3. % 3
4. % fgon

Question Number : 17 Question Id : 7532291433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Umesh started walking and he walked 20 metre towards the north. He turns to the left and walks 50 metre. He again turns to the left and walk 30
metre. He turns to the north and walks 18 metre. He turns right and walks 44 metre. How far and in which direction is he now from the starting
point?

Options :

1. ¥ 10 metres North-West
2. % 14 metres North-West
3. # 14 metres South-East
4. * 10 metres South-East

Question Number : 17 Question Id : 7532291433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IO IAT 3RY a1 quT 98 IR B1 3R 20 Hiex ol | a8 91l 3R YSa1 § aut 50 Hiex Iardl g1 98 T: SR 3R g3dT § a7 30 Hier
znyggggwﬁamasm%aw181ﬂaaa?n%lagarﬁ@vasm%awmﬁaaw%mgﬁwﬁgﬁw%ﬁgawﬁq
)

Options :

1. ¢ 10 Hicr IWR-Uigy

2. % 14 Gl IWR-UigH

3. % 14 TeR g3 yd

4. % 10 Hie gfeorgd



Question Number : 18 Question Id : 7532291434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which answer figure will complete the pattern in the question figure?

8|0
9| v | 2
NNKAPS,
L 14
LY
L8
Mol

Question Number : 18 Question Id : 7532291434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



DI T ITR SATHIA UY 3MpTd & Uy DI G Hi?

2|0
9| v | 2
W E D
.14
LY
L8
Mol

Question Number : 19 Question Id : 7532291435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?



A~rrooeeoee B

Question Number : 19 Question Id : 7532291435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ife Ueh UUT T AB AT TR T 9T, oY 1 718 TR Mpiadl & J B Y 3Mpfa Uy fpfa o1 Tet ufafes g

Ao B




Options :

1.¢¥
gg
v |¢
2. %
o] &
v |¢
3. %
o| &
s
4, %

Question Number : 20 Question Id : 7532291436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

=

Options :

1.¢¥



4. %

Question Number : 20 Question Id : 7532291436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 7TE FW SHiadl § 39 IR 3l B g fora & uy siipfa A B

=

Options :

1. ¢



3. %
4, ®
General Awareness
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Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 75322994
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532291437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Wangla” festival is celebrated in which state of India?
Options :

1. # Himachal Pradesh

2. ¥ Meghalaya

3. ® Manipur

4. % Uttarakhand

Question Number : 21 Question Id : 7532291437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT AR YR & fobg Iog T TR S1aT 22
Options :

|, % fgomd gew
2. ¢ HYTg
3. % OOQR

4. % 39S

Question Number : 22 Question Id : 7532291438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following statement is correct?

I. The Rock shelters of Bhimbetka is situated in Madhya Pradesh.
II. Victoria Memorial is situated in West Bengal.

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. % Neither I nor II

Question Number : 22 Question Id : 7532291438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad 7 9 & 91 oy I8t 82

1. HiscdT &1 Ugret Hen USRI A R B
11. fageifar Amfvad ufym sma 7 fRua g1

Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl
4. % 1B

Question Number : 23 Question Id : 7532291439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a direct tax?

I. Income tax
II. Gift tax

Options :
1. % Only I
2. % Only II



3.4 BothIand II
4. % Neither [ nor 11

Question Number : 23 Question Id : 7532291439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered & O &9 91 Ude X 82

I AT Hh

II. 3UBIR h
Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. ® A A

Question Number : 24 Question Id : 7532291440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct regarding GNP?
Options :

1. ¥ GDP + Net factor income from abroad

2. % GDP — Net factor income from abroad

3. % GDP + Depriciation

4. ¥ GDP - Depriciation

Question Number : 24 Question Id : 7532291440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sit. T, 0. & ol | Fafefed 3 3 o1 w1 9gl 82
Options :

1.« St S U1, + facen 3 urd fRad ek 3



2. % S 81Ot - foc=n O v Fad ek i
3. % Soff. 31 41 + g™
4. % Sff 1O - geag™

Question Number : 25 Question Id : 7532291441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a metalloid?
Options :

1. # Boron

2. ¥ Selenium

3. % Germanium

4. % Polonium

Question Number : 25 Question Id : 7532291441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofiRed & ¥ 39 Th IuTd Te1 52
Options :

1. % §RM

2. ¢ Haf gy

3. % SHfATY

4. % Gienfaw

Question Number : 26 Question Id : 7532291442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will the mass of 6.022 x 10?3 number of N, molecules?
Options :

1. % 14¢

2.9 28 ¢



3.% 56¢g
4. % T7¢g

Question Number : 26 Question Id : 7532291442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6.022 x 1023, N, 3{U[3{l D1 TWHAT BT GHHT T GRTI?
Options :

1. % 14 ¢

2.9 28¢g

3.% 56¢g

4. % T7¢g

Question Number : 27 Question Id : 7532291443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which pair of natural source — acid is correct?

I. Curd — Lactic acid
I1. Tomato — Oxalic acid

Options :

1. ® Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 27 Question Id : 7532291443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U T TWId - 3 &1 &I 1 T Tal 82



1. T8l - difded 3

1. THTCR — 3ffRIfeTed 3
Options :

1. % Had 1

2. % HAdII

3. ¢ 1 AU Gl

4. % qEIIATR I

Question Number : 28 Question Id : 7532291444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many countries share land boundary with India?
Options :

1.¥7

2.% 6

3.% 8

4. % 5

Question Number : 28 Question Id : 7532291444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd & 1Y fham =1 offfr A 18 o= g2
Options :

1.¥7

2.% 6

3. % 8

4. %5

Question Number : 29 Question Id : 7532291445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pass is NOT found in Western Ghats?



Options :

1. # Thal Ghat
2. % Bhor Ghat
3. % Pal Ghat
4. ¥ Haldighati

Question Number : 29 Question Id : 7532291445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PimfRifad 3 & B & ¥ ofdel o & 78 o o 2
Options :

1. # Y YIc

2. % YR Y

3. % Ulf dic

4. ¢ gedl Orct

Question Number : 30 Question Id : 7532291446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which pair of Peak — Country is correct?

I. Makalu — India
II. Nanga Parbat — Nepal

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. ¥ Neither I nor II

Question Number : 30 Question Id : 7532291446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



RRER - SR BT DI 1 JH e 82

L. HbI] — HIRd

. c by
IL. =7 Ydd — YTci
Options :

1. % Had I
2. % HAd Il
3. % [ QYT ISl
4. TBIIATR I

Question Number : 31 Question Id : 7532291447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kitab — ul — Hind was written by
Options :

1. ¥ Humayun

2. ¥ Al - Biruni

3. % Abul Fazl

4. % Birbal

Question Number : 31 Question Id : 7532291447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ferdre - I - fa aR1 ferdt mt ot
Options :

1 * g

2. ¥ 3 — S

3. # Add Bbold

4. % IR

Question Number : 32 Question Id : 7532291448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In which year Simon Commission came to India?

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. 1927

2.1929

3.1925

4. 1926

Question Number : 32 Question Id : 7532291448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A HHIRH HRA | forg Iy 3ma Y1
Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1.1927

2.1929

3. 1925

4.1926

Question Number : 33 Question Id : 7532291449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Widow remarriage act was passed in
Options :

1. % 1857

2.9 1856

3. % 1860



4. % 1862

Question Number : 33 Question Id : 7532291449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faerar gafdarg sifafam T uTia foar T
Options :

1. % 1857

2.9 1856

3. % 1860

4. % 1862

Question Number : 34 Question Id : 7532291450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In July 2021, which country has built the world’s tallest sandcastle?
Options :

1. # India

2. % Denmark

3. % Japan

4. % China

Question Number : 34 Question Id : 7532291450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SATs 2021 T, fay $7 99 ST 3d BT Hed (59 <0 A §™1 62
Options :

1. % YRd

2. ¢ STHID

3. % SIUMH

4. % 94



Question Number : 35 Question Id : 7532291451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the first country to adopt India’s BHIM UPI payments system?
Options :

1. % Nepal

2. % Bangladesh

3. % Bhutan

4. % Myanmar

Question Number : 35 Question Id : 7532291451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR o1 7 g dt 311, Y= Tomelt S19-T aTell Ug e o= i g2
Options :

1. % 9T

2. % FICTGR

3. ¢ Y[

4. % THAR

Question Number : 36 Question Id : 7532291452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In January 2021, BDL has signed an agreement with which of the following company to make ‘STARStreat’ Air Defence System in India?
Options :

1. ¥ Thales

2. # Google

3. # Dassault

4. ® Boeing

Question Number : 36 Question Id : 7532291452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

gﬂaﬂzom A &t Shud. A URA H ‘STARStreat” AT &M WMl §911 & fore fFafafad o 9 forg o=t & I1Y T IHgid IR gXeR feue
X

Options :
1. v 9
2. % A
3. % e

4. % qI37

Question Number : 37 Question Id : 7532291453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian constitution is related to the abolition of untouchability?
Options :

1. # Article 15

2. % Article 16

3. % Article 17

4, % Article 18

Question Number : 37 Question Id : 7532291453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR WA BT DI AT Sfase SRYRIdl & 34 J Hafid 52
Options :

1. % 3G 15

2. % 3JG 16

3. ¥ TG 17

4. % 3G 18

Question Number : 38 Question Id : 7532291454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By which amendment the word ‘Secular’ was added to the preamble of the constitution of India?
Options :

1. ¥ 42nd

2. % 44th

3. % 86th

4. % 28th

Question Number : 38 Question Id : 7532291454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA & AU &1 URdTa-1 | «eHRuer Weq fohd TR GRT SIST T
Options :

1. v 424l

2. % 4497

3. % g6dl

4. % 284df

Question Number : 39 Question Id : 7532291455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Thomas and Uber Cup are associated with which sport?
Options :

1. # Table Tennis

2. ¥ Badminton

3. % Tennis

4. % Chess

Question Number : 39 Question Id : 7532291455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



I YT ok Y 5 o J Feiferd g2
Options :

1. % 2gd g

2. ¢ qgfiied

3. % ¢y

4. % YRS

Question Number : 40 Question Id : 7532291456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which country the first youth Olympic games were held?
Options :

1. # Japan

2. % Russia

3. % China

4. ¥ Singapore

Question Number : 40 Question Id : 7532291456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TYH T 3Miciteh Wel fobd <=1 H Siratford favam mam Ut
Options :

1. % G4

2. %Y

3. % I

4. ¢ RIMR

Arithmetic Ability

Group Number : 3
Group Id : 75322980



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability
Section Id : 75322980

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 75322995
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7532291457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of s 7.29 EioR 40.96 2
0.01 0.64

Options :
1. %2
2.% 3
3.% 4
4. 95



Question Number : 41 Question Id : 7532291457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

729 _:{,4!].96 FT AT FAT 2

0.01 0.64

Options :
1. %2
2.% 3
3.% 4
4. 95

Question Number : 42 Question Id : 7532291458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A & frg UM & T 21A TP Ui 991 gRI?
Options :

1. %2

2. % 4

3.6

4.%0

Question Number : 42 Question Id : 7532291458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For what value of A, 21A will be a perfect cube?
Options :

1. % 2

2. % 4

3.6



4. %0

Question Number : 43 Question Id : 7532291459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3/5 part of a tank is filled with oil. After taking out 350 litres of oil, 1/4 part of the tank is full. What is the capacity of the tank?
Options :

1. % 500 litres

2. % 800 litres

3. #1000 litres

4. % 1200 litres

Question Number : 43 Question Id : 7532291459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS b1 BT 3/5 HIT A T HRT G § 1 350 TR A FbTei & STE Tl T 1/4 UFT HRT AT ]| Th1 b &H T 82
Options :

1. % 500 cilex
2. % 800 Tlex
3. ¢ 1000 X
4. % 1200 AR

Question Number : 44 Question Id : 7532291460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 1 1 1
2+——!—-\.E+—+ +
3 s
What is the value of ﬁ ﬁ_”' \’E 1 ?
Options :
9+8/2
1 ® 2



5472
5

2.¥

6+ 8+/2

5.4+ 6+2

Question Number : 44 Question Id : 7532291460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1
\’(_ Bl ‘E” V-1 D sromanrd

Options :

0+8+2
2

5472
3

2.¥

6+ 8+/2

3.8 3

e W

4. % 3



Question Number : 45 Question Id : 7532291461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many numbers are there from 0 to 200 which are completely divisible by 3 or 5?
Options :

1. % 97

2.9 93

3. % 95

4. % 94

Question Number : 45 Question Id : 7532291461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 ¥ 200 I Tt foramt Temd § S 3 a1 5 ¥ gufa: faursa g2
Options :

1. % 97

2.9 93

3. % 95

4. % 94

Question Number : 46 Question Id : 7532291462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the average of all the multiples of 7 from 25 to 45?
Options :

1. % 28

2. % 42

3.9 35

4. % 49

Question Number : 46 Question Id : 7532291462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

25 ¥ 45 TP, 7 P T [0TSR BT YT o1 ]2
Options :

1. % 28

2. % 42

3.¥35

4. % 49

Question Number : 47 Question Id : 7532291463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 12.5 percent of 480 is 20 percent more than Q, then what is the value of Q?
Options :

1. ¥ 50

2. % 51

3. % 52

4, % 53

Question Number : 47 Question Id : 7532291463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe 480 T 12.5 U=, Q T 20 Ufawd 31 8, O Q HTHH R 82
Options :

1. ¥ 50

2. % 51

3. % 52

4, % 53

Question Number : 48 Question Id : 7532291464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If the side of a cube is increased by 20 percent, then what will be the percentage increase in the volume of cube?
Options :

1. % 60 percent

2. % 72.8 percent

3. # 90 percent

4. % 88.2 percent

Question Number : 48 Question Id : 7532291464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T T Bt Yol DI 20 UTIRIA T TG ST §, ) - & SMA B fda- UTa=Id &1 gig e
Options :

1. % 60 Ufa=rd

2. ¢ 728 f=rd

3. % 90 Ufard

4. % 88.2 Ufa=rd

Question Number : 49 Question Id : 7532291465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A milk merchant buys 30 litres of milk at the rate of Rs. 40 per litre and mixes 10 litres of water in it (water is free of cost). If he sells this
mixture at the rate of Rs. 40 per litre, then what is the profit percentage?

Options :

1. # 20 percent

2. % 25 percent

3. % 33.33 percent
4. # 50 percent

Question Number : 49 Question Id : 7532291465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP G TTURY 40 TUY UfA Tllex 1 &R T 30 TleR g WGl § T ITH 10 wiex i (U g ) firer <ar 31 afe a8 33 s &t 40




STY Ufd cile’ Bt e T d9dl §, dl a1y Ufa=Id & g2
Options :

1. % 20 gfa=rd

2. % 25 gfa=id

3. ¢ 33.33 Ufa=d

4. % 50 gfa=rd

Question Number : 50 Question Id : 7532291466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the cost of 5 apples and 8 mangoes is same as the cost of 9 apples and 4 mangoes, then what is the ratio of the price of a mango and the price of
an apple?

Options :
1.%1:2
2.%1:3
3.%4:1
4.9 1:1

Question Number : 50 Question Id : 7532291466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 5 T TUT 8 3 BT Yo 9 TS TUT 4 3T & Yo & THM 6, A1 U 30 & Jod 94T Th 9§ & Hed HT 30Td 7 82
Options :

1.%¥1:2
2.%1:3
3.% 4:1
4.9 1:1

Question Number : 51 Question Id : 7532291467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P, Q and R start a partnership. P, Q and R invest Rs. 140000, Rs. 160000 and Rs. 120000 respectively. P, Q and R invest their money for 3 years,



3 years and 4 year respectively. If P’s share in profit is Rs. 28000, then what is the sum of the share of Q and R in the profit?
Options :

1. ¥ Rs. 64000

2. % Rs. 75000

3. #¥ Rs. 54000

4. % Rs. 48000

Question Number : 51 Question Id : 7532291467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q TUT R U WIRIGRI Y= B & | P, Q TYUT R HHTT: 140000 TTL, 160000 ST TUT 120000 FUY 9% % § | P, Q TUT R HHI: 3 Y, 3
Iy qYT 4 94 & 1T ¢ A R &1 Tfe oy T p b1 fT1 28000 T B, Al AH & Q JUTR & TR 1AM T 82

Options :

1. ¢ 64000 3T
2. % 75000 3T
3. % 54000 3T
4. % 48000 304

Question Number : 52 Question Id : 7532291468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Simple interest on a sum for six months at the rate of 4 percent per annum is Rs. 400. What is the sum?
Options :

1. ¥ Rs. 8000

2. % Rs. 16000

3. ¥ Rs. 20000

4. % Rs. 24000

Question Number : 52 Question Id : 7532291468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T MR TR 4 ufa=rd ufday &1 e T ©: HEIH! BT YR ST 400 T g | AR 1 72



Options :

1. % 8000 ¥TY
2. % 16000 3T
3. ¢ 20000 3T
4. % 24000 3T

Question Number : 53 Question Id : 7532291469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two trains C and D starts moving at the same time from stations R and S respectively towards each other. C and D trains take 4 hours 16 minutes
and 3 hours 45 minutes to reach S and R respectively after meeting each other. If the speed of train C is 60 km/hr, then what is the speed of the
train D?

Options :

1. ¥ 64 km/hr
2. % 48 km/hr
3. % 56 km/hr
4. % 72 km/hr

Question Number : 53 Question Id : 7532291469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C AYT D TSI T G THY TR SHHT: R YT S WA Y Th-GER B dRW e URH Bl ¢ | C qUT D ISl Th gaR § e &
Er%ﬁwgmz S YT R TR Uge & o0 AT 4 ©C 16 e auT 3 °9¢ 45 fie @t 81 afe Xermst ¢ &t 71fd 60 fop. /. /eier 8, O Yerme! D &1
T ]?

Options :

1. ¢ 64 foo 4t /e
2. % 4g o i der
3. % 56T Hl/der
4. % 72 o ot e

Question Number : 54 Question Id : 7532291470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A starts from a point at a speed of 30 metre/second. After 3 seconds, B starts chasing A from the same point at a speed of 45 metre/second. What
will be the distance covered by B to catch A?

Options :

1. ¥ 270 metres
2. % 330 metres
3. # 240 metres
4. #® 210 metres

Question Number : 54 Question Id : 7532291470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A T farg 9 30 MRAHTS B 7T J SRUY FRAT ] | 3 TS 971G, B I foig T 45 He/AHTE BT 11 T A BT ST 31 IRY IRAT | A
DI Udre o ol B §RTTY &1 T g_I T g2

Options :

1. ¥ 270 Wi}

2. % 330 Wi

3. % 240 iR

4. % 210 Wi

Question Number : 55 Question Id : 7532291471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B1, B2 and B3 alone can complete a work in 10, 5 and 7.5 days respectively. All three of them began the work together but B2 left 1.5 days
before the completion of the work. A and C completed the remaining work together. In how many days was the work completed?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
1. 4 days
2. 3 days
3.5 days



4. 6 days

Question Number : 55 Question Id : 7532291471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B1, B2 04T B3 3fdhdl Uh 1A DI HHRT: 10, 5 74T 7.5 &7 T T HR Tabed g | 39 11 A A1 TSR B BT 3RY Tl iR B2 Hd
T B 1.5 faH Id S Siedx a1 1| A 74T C 7 e Iy S 11 fhan| S favam famt § g1 gam g

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1.4

2.3 fa&

3.5 fa

4.6

Question Number : 56 Question Id : 7532291472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Length of the diagonal of a rectangle is 16 cm more than its breadth. If length of rectangle is 24 cm, then what is the breadth of this rectangle?
Options :

1. ®* 18 cm

2. % 14 cm

3. % 12 cm

4. % 10 cm

Question Number : 56 Question Id : 7532291472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TF 3d & [AHU Bt daTs IUD! ASTs I 16 .1, 31w g1 afe 3mad ot dars 24 .. B, A 3 3mad Ft AISTS AT 82

Options :




1. % 1394
2. % 149.H.
3.0% 29
4. 10 9.4,

Question Number : 57 Question Id : 7532291473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Length, breadth and height of a cuboid are 40 cm, 20 cm and 40 cm respectively. Length of the longest rod that can be placed in this cuboid is
60 cm.

I1. Diameter of a circle is 140 cm. Area of this circle is 15400 cm?.
Options :

1. % Only I

2. % Only II

3. % Both I and II

4. #* Neither I nor II

Question Number : 57 Question Id : 7532291473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ o9 91 By I8 82

I%W‘aﬂmaﬁ daTs, AISTS dUT SHaTs HHT: 40 AT, 20 FH. duT 40 T B 1 91H H el 51 b dTelt T ddll TS 1 da1s 60 T,
|

1. T 1 &1 T 140 T, §1 39 I BT &A% 15400 T2 B

Options :

1. % Had 1
2. % Had Il
3. ¢ [ QYT I gl
4. % I I




Question Number : 58 Question Id : 7532291474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of cars sold by six companies in different years.

Years
Company Y1 2 Y3
A 90 200 400
B 40 20 500
C 120 100 700
D 180 320 650
E 200 450 300
F 400 260 140

Which of the following statement is correct?

I. The average number of cars sold per year by company A is 230.
II. Total number of cars sold by company C in year Y2 and Y3 is 200 percent of the total number of cars sold by company F in year Y2 and Y3.

Options :

1. * OnlyI

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 58 Question Id : 7532291474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & 718 anferent fafvs anf & ©g: Sufadl gRT 9T 8 BRI &1 T ol g iid B



R G

Y1 Y2 Y3
A 90 200 400
B 40 20 500
C 120 100 700
D 180 320 650
E 200 450 300
F 400 260 140

fofefad & ¥ o9 91 By 981 82

1. T A GRI ST T8 BRI 1 Ui I8 SRId AT 230 B
IL SO C GRITY Y2 TUT Y3 & 9t 718 S BRI 1 WA HU F GRT Y2 TUT Y3 H 99 T8 A BRI DT HBAT BT 200 U= B

Options :

1. % $Had 1

2. % Had Il

3. ¢ 1 AU Gl
4. % I I

Question Number : 59 Question Id : 7532291475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the number of students registered and appeared in different exams in a state.



700

650

600 600
500 500
400 400
00 300
- 250
150 |_im
El E2 E3 E4 ES E6 E7
O Registered ® Appeared

Not appeared = Registered — Appeared
What is the total of number of students who had not appeared in all exams?

Options :
1. % 1250
2. % 1750
3. % 1150
4. ¥ 1050

Question Number : 59 Question Id : 7532291475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 1250
2. % 1750
3. % 1150
4. % 1050

Question Number : 60 Question Id : 7532291476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line graph given below shows the production of car and bike by different companies.
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Which of the following statement is correct?

I. The total production of car by all the companies is 10 percent less than the total production of bike by all the companies.
II. The production of car by company C6 is 70 percent more than the production of bike by company C6.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 60 Question Id : 7532291476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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General English
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Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
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Question Number : 61 Question Id : 7532291477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The first whales on Earth had four limbs,(1)/ which looked something like large dogs and (2)/ lived at least part of their lives on land (3)/.No
error (4)

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 61 Question Id : 7532291477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The first whales on Earth had four limbs,(1)/ which looked something like large dogs and (2)/ lived at least part of their lives on land (3)/.No
error (4)

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 62 Question Id : 7532291478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Daniel had got frighten after (1)/watching a fire show (2)/ in the circus (3)/.No error (4)
Options :

1.¥ 1

2.% 2

3.%3

4. % 4

Question Number : 62 Question Id : 7532291478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Daniel had got frighten after (1)/watching a fire show (2)/ in the circus (3)/.No error (4)
Options :

1.9 1

2.% 2

3.%3



4. % 4

Question Number : 63 Question Id : 7532291479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

He is one of the best actors who ever lived.

Options :

1. * one of the bestest actor
2. ® only best actor

3. # between the good actor

4. ¥ No improvement

Question Number : 63 Question Id : 7532291479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

He is one of the best actors who ever lived.
Options :

1. # one of the bestest actor
2. % only best actor
3. % between the good actor

4. ¥ No improvement

Question Number : 64 Question Id : 7532291480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.



I have completed the homework four hours ago.

Options :

1. ¥ I completed

2. # I had completed
3. # has completing

4. ¥ No improvement

Question Number : 64 Question Id : 7532291480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

I have completed the homework four hours ago.

Options :

1. ¥ I completed

2. # T had completed
3. * has completing

4. % No improvement

Question Number : 65 Question Id : 7532291481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Students at Manali had a accident during the river rafting.
Options :

1. #® cynical

2. # blossom

3. ¥ terrible

4. % gullible



Question Number : 65 Question Id : 7532291481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Students at Manali had a accident during the river rafting.
Options :

1. * cynical

2. % blossom

3. ¥ terrible

4. # gullible

Question Number : 66 Question Id : 7532291482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

In stage performances, Meena is than Karishma.

Options :
1. * good
2. % well
3. % best
4. ¥ better

Question Number : 66 Question Id : 7532291482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

In stage performances, Meena is than Karishma.
Options :
1. # good

2. % well



3. # best
4. ¥ better

Question Number : 67 Question Id : 7532291483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

In May 1968

P: Paris was rocked by a great student

Q: unrest among students in the Latin Quarter to a
R: nationwide outbreak of labour strikes and protests
S: uprising, which swelled from scattered

Options :

1. ¥ PSRQ
2. % QRSP
3. % PSQR
4. % SRQP

Question Number : 67 Question Id : 7532291483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

In May 1968

P: Paris was rocked by a great student

Q: unrest among students in the Latin Quarter to a
R: nationwide outbreak of labour strikes and protests
S: uprising, which swelled from scattered

Options :

1. # PSRQ
2. % QRSP
3. ¥ PSQR
4. % SRQP



Question Number : 68 Question Id : 7532291484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: be extracted for use in gunpowder and explosives,
Q: and bat guano was an important resource for

R: the saltpetre in bat droppings can also

S: that purpose during the American Civil War

Options :

1. ¥ RPQS
2. % RQPS
3. # SQPR
4. % QPRS

Question Number : 68 Question Id : 7532291484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: be extracted for use in gunpowder and explosives,
Q: and bat guano was an important resource for

R: the saltpetre in bat droppings can also

S: that purpose during the American Civil War

Options :

1. ¥ RPQS
2. % RQPS
3. # SQPR
4. % QPRS

Question Number : 69 Question Id : 7532291485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the word that means the same as the given word.

Sincere
Options :

1. # Critical
2. ¥ Heartfelt
3. # False

4. # Flowed

Question Number : 69 Question Id : 7532291485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Sincere
Options :

1. # Critical
2. ¥ Heartfelt
3. # False

4. % Flowed

Question Number : 70 Question Id : 7532291486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Askew

Options :

1. ¥ Obese

2. % Oblique

3. ¥ Asymmetrical

4. ¥ Symmetrical



Question Number : 70 Question Id : 7532291486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Askew

Options :

1. # Obese

2. # Oblique

3. ¥ Asymmetrical

4. ¥ Symmetrical

Question Number : 71 Question Id : 7532291487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Torturous

2. # Tortarous

3. % Torturuos

4. % Torcharas

Question Number : 71 Question Id : 7532291487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Torturous

2. % Tortarous

3. % Torturuos

4. % Torcharas



Question Number : 72 Question Id : 7532291488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. * Injenious

2. % Engineous

3. ¥ Ingenious

4. % Enjenious

Question Number : 72 Question Id : 7532291488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Injenious

2. # Engineous

3. % Ingenious

4. ¥ Enjenious

Question Number : 73 Question Id : 7532291489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To make bricks without straw

Options :

1. * To not have patience

2. ¥ To do something without the proper resources
3. # To wait for a good time

4. % To skip an important step



Question Number : 73 Question Id : 7532291489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To make bricks without straw

Options :

1. # To not have patience

2. ¥ To do something without the proper resources
3. % To wait for a good time

4. # To skip an important step

Question Number : 74 Question Id : 7532291490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

From the cradle to the grave
Options :

1. ¥ For all of a person’s life

2. # To steal from a naive person
3. % To lie to somebody

4. % Useful for one’s purpose

Question Number : 74 Question Id : 7532291490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

From the cradle to the grave
Options :
1. ¥ For all of a person’s life

2. % To steal from a naive person



3. % To lie to somebody

4. % Useful for one’s purpose

Question Number : 75 Question Id : 7532291491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Currently existing, not destroyed yet
Options :

1. ¥ Extant

2. % Extinct

3. % Extent

4, % Antediluvian

Question Number : 75 Question Id : 7532291491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Currently existing, not destroyed yet

Options :

1. ¥ Extant

2. ®# Extinct

3. # Extent

4. #® Antediluvian

Sub-Section Number : 2
Sub-Section Id : 75322997
Question Shuffling Allowed : Yes

Question Id : 7532291492 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)



Read the following information carefully and answer the given questions.

The process of self-improvement often has a destructive impact mentally and emotionally. If you ask what you “should do” or “should be” you
become set up for self-rejection. Your mind immediately creates a conceptual image of what you should be and another part of your mind
determines that you are not the conceptual image you just created. The voice in your head makes a judgment that you are a failure for not
meeting the mental image and you end up feeling “not good enough.” All of this because you don’t meet the conceptual image you fabricated in
your mind; an image that isn’t even real.

You don’t have to change what you are or what you have to be happy, but instead, change the emotion you are expressing. If you are expressing
anger then you will feel angry. If you express jealousy or guilt, then you will feel jealousy and guilt. If you are expressing love then you are likely
to experience happiness and fulfilment. Think back to different times in your life and make a note of what you were expressing. We often
associate feeling happy with who we were with what we had, or what we were doing. Those external things were not making us happy. It was the
love we were expressing at the time that fulfilled us.

Studies show that people who are happy are spending time gardening, with people they love, and working on things they are passionate about.
The common element is not the things they achieve, or what they are doing. The common element that creates happiness is that they are
expressing love in all those instances. They are expressing love to who they are with or for what they are doing.

Sub questions

Question Number : 76 Question Id : 7532291493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the suitable tagline for the given passage?
Options :

1. # Don’t fear your passion

2. ¥ Self-Acceptance is the way out of self-rejection
3. % Change your emotions

4. ® Your anger is your biggest enemy

Question Number : 77 Question Id : 7532291494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the author mean when he/she says “You don’t have to change what you are”?
Options :

1. ¥ You should not let go your real essence but change the way of showing emotion.
2. # You must not change outfits so many times, instead change your emotions.

3. % You should not change your emotions, instead change your habits.

4. # You should not change the way you carry yourself but change your passion.



Question Number : 78 Question Id : 7532291495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words best expresses the antonym of the word ‘fabricated’?
Options :

1. ¥ Raise

2. # Contrive

3. % Dismantle

4. % Assemble

Question Number : 79 Question Id : 7532291496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is/are true about the common element?

L. It is the things that we achieve in life.
II. Common element that attaches happiness with people around, is good.

Options :

1. % Only I

2.% Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 80 Question Id : 7532291497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the tone of the given passage?
Options :

1. # Angry

2. # Bitter

3. % Sarcastic

4. % Friendly



Question Id : 7532291492 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.

The process of self-improvement often has a destructive impact mentally and emotionally. If you ask what you “should do” or “should be” you
become set up for self-rejection. Your mind immediately creates a conceptual image of what you should be and another part of your mind
determines that you are not the conceptual image you just created. The voice in your head makes a judgment that you are a failure for not
meeting the mental image and you end up feeling “not good enough.” All of this because you don’t meet the conceptual image you fabricated in
your mind; an image that isn’t even real.

You don’t have to change what you are or what you have to be happy, but instead, change the emotion you are expressing. If you are expressing
anger then you will feel angry. If you express jealousy or guilt, then you will feel jealousy and guilt. If you are expressing love then you are likely
to experience happiness and fulfilment. Think back to different times in your life and make a note of what you were expressing. We often
associate feeling happy with who we were with what we had, or what we were doing. Those external things were not making us happy. It was the
love we were expressing at the time that fulfilled us.

Studies show that people who are happy are spending time gardening, with people they love, and working on things they are passionate about.
The common element is not the things they achieve, or what they are doing. The common element that creates happiness is that they are
expressing love in all those instances. They are expressing love to who they are with or for what they are doing.

Sub questions

Question Number : 76 Question Id : 7532291493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the suitable tagline for the given passage?
Options :

1. # Don’t fear your passion

2. ¥ Self-Acceptance is the way out of self-rejection
3. % Change your emotions

4. # Your anger is your biggest enemy

Question Number : 77 Question Id : 7532291494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the author mean when he/she says “You don’t have to change what you are”?
Options :



1. ¥ You should not let go your real essence but change the way of showing emotion.
2. # You must not change outfits so many times, instead change your emotions.
3. % You should not change your emotions, instead change your habits.

4. # You should not change the way you carry yourself but change your passion.

Question Number : 78 Question Id : 7532291495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words best expresses the antonym of the word ‘fabricated’?
Options :

1. # Raise

2. % Contrive

3. ¢ Dismantle

4. % Assemble

Question Number : 79 Question Id : 7532291496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is/are true about the common element?

I. It is the things that we achieve in life.
II. Common element that attaches happiness with people around, is good.

Options :

1. % Only I

2. % Only II

3. # BothIand II
4. ® Neither I nor II

Question Number : 80 Question Id : 7532291497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the tone of the given passage?
Options :



1. * Angry
2. * Bitter
3. % Sarcastic
4. ¥ Friendly

General Hindi
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Group Id : 75322982
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Question Number : 81 Question Id : 7532291498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faT 7T Y8 &1 GH U< f3Ug F1d ST
TR

Options :

1. % T DI Glgon

2. ¢ & o forg aférom
3. ® TR= & &l TS gfeom
4. % = 3R gfeom

Question Number : 81 Question Id : 7532291498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faT 7T 2eq 1 JHE U< faurg F1d SifvTT

TR~CI&o

Options :

1. % TR= B Gl

2. ¥ & o forg afémon
3. % TR= & ¢t TS gfeom
4. % T= 3R feom

Question Number : 82 Question Id : 7532291499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 7T Ysg BT UG J1d BT

g

Options :
1. % T
2. % ¢




3. % X

4.4 W

Question Number : 82 Question Id : 7532291499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 7T Ysg BT UGy J1d BT

g

Options :
1. % S
2. % c
3. %A

4.4 W

Question Number : 83 Question Id : 7532291500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faU T4 9T © Heudied 3feqd J1d P

IR g1 S o 3 9 g U
Options :

1. % IR

2. ¥ & 3T

3. % 9q

4. %Y

Question Number : 83 Question Id : 7532291500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fQu T 919 H deyaiyd 31eqd J1d i |



IR g1 S & 3 I g
Options :

1. % TR

2. ¥ & 3T

3. % od

4. %Y

Question Number : 84 Question Id : 7532291501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3U 7Y <rec] H Y[ I BT 99 DI
Options :

1. % Uosfaferd

2. % Yoigferd

3. ¢ Usdferd

4. % ORI

Question Number : 84 Question Id : 7532291501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U Trec) B Peg A 1 T BT
Options :

1. % gsaferd

2. % Yordferd

3. ¢ godterd

4. % WRISEl

Question Number : 85 Question Id : 7532291502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7T Wsg T I Wee I BT



x
Options :
1. * &
2. % HglH
3. % oIy
4, % YYH

Question Number : 85 Question Id : 7532291502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T TN Wsg T I Wee I BT
&

Options :
1. ®* &
2. ¥ Held
3. % By
4. % WYY

Question Number : 86 Question Id : 7532291503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 77T g T o1 Ta! e T F1d HITOT|
Gﬂﬁ:m

Options :
I.Vﬁ@:ﬁw
2.W‘ﬂﬂT:tﬂ3T
3.”%:@
4. % T QA



Question Number : 86 Question Id : 7532291503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 77T g T o1 Ta! e T F1d BT
&rﬁ%f:emi%r

Options :
1.#113@:%?114
2.W‘ﬂﬂT:tﬂST
3.”%:@
4. % T QA

Question Number : 87 Question Id : 7532291504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 71U <req T H1 T Xsa FH I DI

dsSll : dsldh
Options :

1. % g : drend
2. % RIS IJY
3. ¢ QT : Sfeal
4, % A19 . dldld

Question Number : 87 Question Id : 7532291504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 77T g T o1 Ta! e T F1d HITOT|

dsll: dsldh
Options :
1. ®% g e



2. % RIS IJY
3.« dIdld : Sledl
4. % 919 : qIdAE

Question Number : 88 Question Id : 7532291505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST ¢ 9199 &1 9T [ HIoT|
NEE R CSEAT

Options :

1. % Yiddr=yg
2. ¥ HarA
3. % HHarA
4, % AHYdrY

Question Number : 88 Question Id : 7532291505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T TQ aTeRr T aTed J1d BT

M A GKP el |
Options :

1. % Yigdrg

2. ¥ FHadrd

3. % HHarA

4. % AT

Question Number : 89 Question Id : 7532291506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufaRad areal § O TRa 9199 J1d S|



Options :

1. ¢ ¥ gy diep ot |

2. % T3 gy dlar oiR I |

3. % I A gy ATE Ut SR 98 I |
4. % S 39 gy U1, 91 /RIS AT

Question Number : 89 Question Id : 7532291506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRed arerRil ® | W a1 JTd Bitoid |
Options :

1. ¢ T gy fie a1 |

2. % TR gy U SR I T

3. % M 9 gy el Ui 3k 98 4 |

4. % S 39 gY U1, 91 WRI9 AT

Question Number : 90 Question Id : 7532291507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeRad arerl § ¥ TG 9T JTd B
Options :

1. % a1 BT ARA 3BT E |

2. ¢ T 3R a1 1 AT 3BT

3. % S A1 8, 3D I D7 |

4. % S i1 BT AR 331 8, 9 B Ml b1 IRA B

Question Number : 90 Question Id : 7532291507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad ot O @ Tgad a1 B

Options :




1. % Jiar &1 IA 318

2. « Ttar 3R tfidr 1 IRA sr=ET B

3. % S A1 8, 39T INT 33T 8l

4. % S i1 B IRT 3317, I B M BT INF B

Question Number : 91 Question Id : 7532291508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 &9 91 g Udhdad - Sgda & ol Ug! el 82
Options :

1% 9T IIg

2. ¥ 3R] - 3

3. % Tl — Tferdr

4. * Ryfsar - fafsar

Question Number : 91 Question Id : 7532291508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed # I &9 91 g Thaad - 9gae- & ot Tg! el 82
Options :

1% OgT-dIs

2. oo

3. % 7ch — Tieral

4. % e - fafsar

Question Number : 92 Question Id : 7532291509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad form fogl # 9 o w1 gaue g 82

Options :
1. % ;

b



2. % .
3.¥ A
4, %

Question Number : 92 Question Id : 7532291509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeifad fovm fagl & @ @19 91 g9ug g 22
Options :

1. # ;

2.
3.¥ A
4, = .

Question Number : 93 Question Id : 7532291510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqu TTq forH gl & U vl g Jrd pifeg|
Options :

1w «”

2. % .

3. %

4. % _

Question Number : 93 Question Id : 7532291510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e fovm fogl § O Igrur fog 91d Sifs|

Options :
1. v/ ({32
2. % .




e

Question Number : 94 Question Id : 7532291511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou 70 aR fawedl § 9, 39 fawed &1 999 o S faU 70 GgTak & 31 &1 a98 T ¥ ad Rl 5|
3T B BT SR g

Options :

1. % 3T 9]

2. % HIR (BT
3. % S g

4. ¢ SIS R BT

Question Number : 94 Question Id : 7532291511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 7o IR fawedl & 9, 39 faded o1 9o 3 ot fT 70 gerer & 31 &1 a9y U ¥ oJad Hral g |

3T % BT SR g
Options :

1. % 3UTH o]

2. % IR AT
3. % S g

4. ¥ SIS R BT

Question Number : 95 Question Id : 7532291512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou 0 aR fawedl § 9, 39 fawed &1 999 & S faU 0 GgTak & 31 &1 498 &9 ¥ ad Rl g




T+Ht T T g
Options :

1. % SeadTel gl

2. ¢ GULHTR GHT

3. % Ul &) dg R gl

4. % fordt I UR &1 71 ¢

Question Number : 95 Question Id : 7532291512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawed § 9, 39 fawed &1 9o 3 o1 fGT 70 JeTer & 31 &1 Jd9§ U ¥ oJad Hral o |
Tt BT AT T

Options :

1. % Seadls gl

2. ¢ &ULHIR BT

3. % QI &l dg W el

4. % &t 99 W & = ¢

Sub-Section Number : 2
Sub-Section Id : 75322999
Question Shuffling Allowed : Yes

Question Id : 7532291513 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

TS T T T | IR O STYR WR Ui Uy f3U 7Y § | I Y e9MYde U aul U Uy H IR fawedl # ¥ Iel fawey 3|

T 3y i H AR &1 Iad A g e 99 741 ¢ | R & RS YR H IRaAdl 1 H g5 | 38T Ued Wiedh ol JgiRe
AT A ol Ugal ¥ R & YRd § ufafld forar ) 795 & o 7AReH S S1awyed g 31Tol HRd &1 Jafas 3¢anT fay RAar g
gfergef %2 Y1 8 | R fas &1 sigyd 3 7 It & fAmfor o eMie UeR & afe I3 &1 UaiT gid1 | | Wfaa=med R, wfeay,
HHR, W & IUBRN TS & A I {heH! BT AT gl & IRFET &1 FHf0r U & 8 | [RsiTd H G R o1 Traes AT srufd R
H fbdfl YR D1 31aret TaT gicht A IART dbael Ial-fOhRdl fost 4@ Fahd 1o o 91 e o yor 4 39 & | hifd o1g | URd &1




GG ST IS THPT b5k § TUNTY g WY & A7 3 URIes & | R b1 HIS] 1 qUor /AT STl § 13471 & 0T H S8
SO AR R B TS TARSH B 33T ATYH ¢, T ga! 3R & &1 T a1 arey 2 5| fory avq &1 fora=n 91 il ¥ s gian
8 IUB] I UHTT 39 [T & Teas a1 GAdh ﬁﬁ|wmﬁmmﬁq@ﬁ%|mmﬁgmﬁmm
TR T g %HWGEPTWId%ddd?IQ'Twﬁ e fired 9gd Wi G 63 o) 39 AR RAHT aaH 9Hd & H-ReH & 969
ST FTe &1 gan

Sub questions

Question Number : 96 Question Id : 7532291514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRA § R 31 3T Hd g5 A
Options :

1. % 3NYFD Db

2. ¢ IRAA BT

3. % URAA Bl

4. % UfAGTRYD BT

Question Number : 97 Question Id : 7532291515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd B ATIHIAS ST BT 5 Hal 1Ud 82
Options :

1. % gy}

2. % T

3. % T3

4. ¥ O3

Question Number : 98 Question Id : 7532291516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT &1 YRd H Ufdf¥d fobreb gRT fobam ma ur

Options :




1. ¥ SIa1 Ied Bledh
2. % AT T
3. % YOI @l

4. % TIR®

Question Number : 99 Question Id : 7532291517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R forgent & g2

Options :

1. % fRraf

2. ¢ fagm

3. % HARGH

4. % JHIS

Question Number : 100 Question Id : 7532291518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUdad TR T SUgad X o1 ghTT?
Options :

1. % g REAmr

2. % g ftbeH

3. ¢ RAA 1 "

4. % AR b

Question Id : 7532291513 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

TS TSI fam 71 § | TR o TR WR Uid U fau 7 § | TRl &1 gdes Ue a1 A Uy H IR fawed § § UE fadwen |

R YA I H AR &1 Jad A g T & 741 8 | R &1 Y31 YR J IRl ST & g | GIaT 9o Pledh oid S[aie
an = ol gaal & R &1 URd & Ufaf¥d foan 998 & o TR Siad SHTaRae® g) 31 YRd &1 aaras 3ganT fay Rear 3




gt #x 81 g | R fose &1 srgyd < 8 Ifhcd! o (A o 3Me UHR & a1+ =1 &1 T g1l & | faxd=ien B, WS,
HCR, Td & IUDHRN 3Tfe b A H {ed! BT AT giar & IRFH1 &1 410 T Ha 8 | RS 8 b RFHT 61 Taa o7 i R
 fdlt UhR BT SATaTS a1 gt A [T had derdl-hRdl o <@ Iohd U (o & A1y @i o [Hre0r 9 39 &3 H wifd g | URd H
HTIIRIG I TS BT B3 ¢ FUCIT I8 FIFR & 9 Y URIg 8 | R ) T0Tet 7 SUor 711 STl 8 1941 & g o 39aT

3O FORIY RIT 5| Tt AR BT 3asT A1YH &, T Gusl 3R RI&T &1 U sreat Ay o 3| forg a¥g &1 forawn 91 sital & S/ gial
8 SUDT I THTT I [ B e a1 HR o1 aIdl| Taras § AR I & gig Biat o] oM ST ®1 g B & AgH U,
TR qYT I8 SRIHd 81 ofld § 3@ gX H- H RIEMIE ihed Tgd W R 85 o) 39 kg RIHT gaqH 9 H AR & 9ad
ST T §1 g3 & |

Sub questions

Question Number : 96 Question Id : 7532291514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRA H 11 &1 L3 e ga o
Options :

1. % YD BT

2. ¢ QRAAdT pTd

3. ® YR BT

4. % UfAGTRID BId

Question Number : 97 Question Id : 7532291515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd B TGS ST BT 5 Bl 1Ud 82
Options :

1. % gy}

2. % T

3. % T3

4. qeg

Question Number : 98 Question Id : 7532291516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25




=1 @ yRd H ufafgd feae g1 fosar mar am
Options :

1. ¥ GIc] UTed Wik

2. % AHATH g

3. % YOI @

4. % YIRS

Question Number : 99 Question Id : 7532291517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ran forgan & g2

Options :

1. % fRraf

2. ¢ fagm

3. % FARGH

4. % JHIS

Question Number : 100 Question Id : 7532291518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U TR T IUGeR] Liitieh T BT
Options :

1. % g REAmr

2. % e fibed

3. ¢ A &1 98

4. % OFRY B

Disciplinel
Group Number : 6
Group Id : 75322983



Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 75322983

Section Number : 1
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Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229100

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532291519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I tried hardly to teach her (1)/ my sign language, but she (2)/ was dull and lazy. (3)/ No error (4)
Options :

1.9 1

2. % 2

3.%3

4. % 4



Question Number : 101 Question Id : 7532291519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I tried hardly to teach her (1)/ my sign language, but she (2)/ was dull and lazy. (3)/ No error (4)
Options :

1.¥1

2. %2

3.%3

4. % 4

Question Number : 102 Question Id : 7532291520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The class teachers along (1)/ with the secretary is coming (2)/ towards the main building. (3)/ No error (4)
Options :

1. %1

2.9 2

3.% 3

4, % 4

Question Number : 102 Question Id : 7532291520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The class teachers along (1)/ with the secretary is coming (2)/ towards the main building. (3)/ No error (4)
Options :
1. %1



2.¥2
3. %3
4. % 4

Question Number : 103 Question Id : 7532291521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Bravo! You have (1)/ qualified all the written (2)/ exams of this university. (3)/ No error (4)
Options :

1. # 1

2.% 2

3.%3

4. 4

Question Number : 103 Question Id : 7532291521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Bravo! You have (1)/ qualified all the written (2)/ exams of this university. (3)/ No error (4)
Options :

1. %1

2.% 2

3.%3

4. ¥ 4

Question Number : 104 Question Id : 7532291522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



Out of the drawer (1)/ they took about ten little (2)/ packages off yellow paper. (3)/ No error (4)
Options :

1. %1

2.% 2

3.3

4. % 4

Question Number : 104 Question Id : 7532291522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Out of the drawer (1)/ they took about ten little (2)/ packages off yellow paper. (3)/ No error (4)
Options :

1. %1

2. % 2

3.9 3

4. % 4

Question Number : 105 Question Id : 7532291523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

As far that we were concerned, (1)/ our friendship was a sign of trust (2)/ and a mature healthy relationship. (3)/ No error (4)
Options :

1.¥ 1

2. %2

3.%3

4. % 4

Question Number : 105 Question Id : 7532291523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

As far that we were concerned, (1)/ our friendship was a sign of trust (2)/ and a mature healthy relationship. (3)/ No error (4)
Options :

1.9 1

2. % 2

3.%3

4. % 4

Question Number : 106 Question Id : 7532291524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

If you didn’t buy any new (1)/ clothes during the pandemic, (2)/ you are far off alone. (3)/ No error (4)
Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 106 Question Id : 7532291524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

If you didn’t buy any new (1)/ clothes during the pandemic, (2)/ you are far off alone. (3)/ No error (4)
Options :

1. % 1

2.% 2

3.3

4. % 4



Question Number : 107 Question Id : 7532291525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The king built high walls around (1)/ the palace that prevented the prince (2)/ of knowing the outside world. (3)/ No error (4)
Options :

1. #* 1

2. % 2

3.9 3

4. % 4

Question Number : 107 Question Id : 7532291525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The king built high walls around (1)/ the palace that prevented the prince (2)/ of knowing the outside world. (3)/ No error (4)
Options :

1. %1

2.% 2

3.3

4, % 4

Question Number : 108 Question Id : 7532291526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I had made peace upon (1)/ the fact that I was not (2)/ going to be one of the winners. (3)/ No error (4)
Options :
1.¥ 1



2. %2
3. %3
4. % 4

Question Number : 108 Question Id : 7532291526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I had made peace upon (1)/ the fact that I was not (2)/ going to be one of the winners. (3)/ No error (4)
Options :

1.¥ 1

2.% 2

3.%3

4. % 4

Question Number : 109 Question Id : 7532291527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The government must work to involve locals, (1)/ not just international energy giants, (2)/ in development for sustainable energy for the country.
(3)/ No error (4)

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 109 Question Id : 7532291527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



The government must work to involve locals, (1)/ not just international energy giants, (2)/ in development for sustainable energy for the country.
(3)/ No error (4)

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 110 Question Id : 7532291528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Since both of my parents had medical practices, (1) they knew that whoever did not (2)/ accompany me will be covering two practices. (3)/ No
error (4)

Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 110 Question Id : 7532291528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Since both of my parents had medical practices, (1) they knew that whoever did not (2)/ accompany me will be covering two practices. (3)/ No
error (4)

Options :
1. %1
2. %2
3.3
4. % 4



Question Number : 111 Question Id : 7532291529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The great schism between art and craft (1)/ is one of the symptoms of a hierarchical view (2)/ of art and a particularly casualty of modernism. (3)/
No error (4)

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 111 Question Id : 7532291529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The great schism between art and craft (1)/ is one of the symptoms of a hierarchical view (2)/ of art and a particularly casualty of modernism. (3)/
No error (4)

Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 112 Question Id : 7532291530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

When William came in, he found (1)/ Damon putting the finishing touches to a (2)/ wonderful life-size picture of a women. (3)/ No error (4)
Options :



1. %1
2. %2
3.3
4. % 4

Question Number : 112 Question Id : 7532291530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

When William came in, he found (1)/ Damon putting the finishing touches to a (2)/ wonderful life-size picture of a women. (3)/ No error (4)
Options :

1. % 1

2.% 2

3.3

4. % 4

Question Number : 113 Question Id : 7532291531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

We had to get out beyond the window and uphill in order to save ourselves.
Options :

1. # can get out along
2. # have to get out beyond
3. % had to get out through

4. ¥ No improvement

Question Number : 113 Question Id : 7532291531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

We had to get out beyond the window and uphill in order to save ourselves.

Options :

1. #* can get out along

2. % have to get out beyond
3. ¥ had to get out through

4. % No improvement

Question Number : 114 Question Id : 7532291532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Hardly I had finished my meal when the waiter started to ask for a tip.
Options :

1. # No sooner I did finish

2. # No sooner had I finished

3. % Hardly had I finished

4. ¥ No improvement

Question Number : 114 Question Id : 7532291532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Hardly I had finished my meal when the waiter started to ask for a tip.
Options :

1. # No sooner I did finish

2. # No sooner had I finished

3. ¥ Hardly had I finished



4. ¥ No improvement

Question Number : 115 Question Id : 7532291533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

A video of a parked car being sudden swallowed upon by a sinkhole has taken social media by storm.

Options :

1. ¥ suddenly being swallowed up by
2. # been swallowed upon suddenly by
3. # being swallowed down sudden by

4. ¥ No improvement

Question Number : 115 Question Id : 7532291533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

A video of a parked car being sudden swallowed upon by a sinkhole has taken social media by storm.
Options :

1. ¥ suddenly being swallowed up by

2. # been swallowed upon suddenly by

3. % being swallowed down sudden by

4. ¥ No improvement

Question Number : 116 Question Id : 7532291534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.



The rain was still coming down hardly and there were occasional rumbles of thunder.
Options :

1. #® hardly was still coming upon
2. ¥ was still coming down hard
3. # were still coming down hardly

4. ¥ No improvement

Question Number : 116 Question Id : 7532291534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

The rain was still coming down hardly and there were occasional rumbles of thunder.
Options :

1. # hardly was still coming upon

2. % was still coming down hard

3. # were still coming down hardly

4. % No improvement

Question Number : 117 Question Id : 7532291535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Ravi, you and I are going to conduct a virtual meeting for the mechanical students.
Options :

1. # I, you and Ravi are
2. % Ravi, you and I am
3. % You, Ravi and I are

4. ¥ No improvement



Question Number : 117 Question Id : 7532291535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Ravi, you and I are going to conduct a virtual meeting for the mechanical students.

Options :

1. # 1, you and Ravi are
2. % Ravi, you and I am
3. ¥ You, Ravi and I are

4. ¥ No improvement

Question Number : 118 Question Id : 7532291536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Drinking coffee is something that many professionals recommend because it made it possible to study in a most energetic and concentrated way.

Options :

1. # it had made it possible studying in a much
2. % it has made it possibly to study in a more
3. % it makes it possible to study in a more

4. ¥ No improvement

Question Number : 118 Question Id : 7532291536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Drinking coffee is something that many professionals recommend because it made it possible to study in a most energetic and concentrated way.




Options :

1. #® it had made it possible studying in a much
2. # it has made it possibly to study in a more
3. ¥ it makes it possible to study in a more

4. ¥ No improvement

Question Number : 119 Question Id : 7532291537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Digital payments are the most effective way of receiving payments for business and by their nature is significantly less costlier than cash.
Options :

1. ¥ are significantly less costly than cash
2. # are significantly lesser costlier than cash
3. # is significantly lesser costlier then cash

4. % No improvement

Question Number : 119 Question Id : 7532291537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Digital payments are the most effective way of receiving payments for business and by their nature is significantly less costlier than cash.
Options :

1. ¥ are significantly less costly than cash
2. # are significantly lesser costlier than cash
3. # is significantly lesser costlier then cash

4. ¥ No improvement

Question Number : 120 Question Id : 7532291538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

The child was in the habit of going on many expeditions to observe strange things in the vicinity.

Options :

1. % was on the habit of going at many

2. % have been on the habitual of going at many
3. # has been in the habit of gone on many

4. ¥ No improvement

Question Number : 120 Question Id : 7532291538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

The child was in the habit of going on many expeditions to observe strange things in the vicinity.

Options :

1. * was on the habit of going at many

2. % have been on the habitual of going at many
3. * has been in the habit of gone on many

4. ¥ No improvement
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Question Number : 121 Question Id : 7532291539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

The hospital was more expensive than I expected.
Options :
1. * very
2. % most

3. % much

4. * many

Question Number : 121 Question Id : 7532291539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

The hospital was more expensive than I expected.
Options :

1. # very

2. #% most

3. % much

4. ¥ many

Question Number : 122 Question Id : 7532291540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

They got into the carriage and drove for minutes in silence.
Options :

1. ¥ afew

2. % some

3. * much

4. % g little

Question Number : 122 Question Id : 7532291540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

They got into the carriage and drove for minutes in silence.
Options :

1. ¥ a few

2. % some

3. % much

4. % alittle



Question Number : 123 Question Id : 7532291541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

All that is mine is , she concluded, scanning the faces before her.
Options :

1. * you

2. ¥ yours

3. % yours’

4. # your’s

Question Number : 123 Question Id : 7532291541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

All that is mine is , she concluded, scanning the faces before her.
Options :

1. * you

2. ¥ yours

3. * yours’

4. * your’s

Question Number : 124 Question Id : 7532291542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

He watched her for a moment then crossed to the cabinet.

Options :
1. # nearer

2. ¥ near



3. % nearest

4. * nearness

Question Number : 124 Question Id : 7532291542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

He watched her for a moment then crossed to the cabinet.
Options :

1. # nearer

2. ¥ near

3. ¥ nearest

4. # nearness

Question Number : 125 Question Id : 7532291543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

She had taken an morning train to the city.
Options :

1. % latest

2. % carly

3. % earlier

4. % latter

Question Number : 125 Question Id : 7532291543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

She had taken an morning train to the city.



Options :
1. # latest
2. ¥ carly
3. % earlier
4. ¥ latter

Question Number : 126 Question Id : 7532291544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

Since everyone knew the way a man's heart was through his stomach, she started a special meal.

Options :

1. # upon, with
2. % on, at

3. ¥ to, with

4. # for, on

Question Number : 126 Question Id : 7532291544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

Since everyone knew the way a man's heart was through his stomach, she started a special meal.
Options :

1. # upon, with

2. % on, at

3. ¥ to, with

4. # for, on

Question Number : 127 Question Id : 7532291545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

When he had any spare time, he sat himself thinking his future goals.
Options :

1. ¥ by, about

2. % over, for

3. ® on, for

4. # along, upon

Question Number : 127 Question Id : 7532291545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

When he had any spare time, he sat himself thinking his future goals.
Options :

1. ¥ by, about

2. ® over, for

3. * on, for

4. % along, upon

Question Number : 128 Question Id : 7532291546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

The July sun was beating unmercifully the streets of New Delhi.
Options :

1. * above, in

2. % down, on

3. % over, to

4. ® off, over



Question Number : 128 Question Id : 7532291546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

The July sun was beating unmercifully the streets of New Delhi.
Options :

1. # above, in

2. % down, on

3. % over, to

4. # off, over

Question Number : 129 Question Id : 7532291547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate verbs from the given options to fill in the blanks and complete the sentence.

He a young horse that he only bought a week or two previously.
Options :

1. # is driving, did

2. % drove, has

3. % was driving, had

4. # had been driving, has

Question Number : 129 Question Id : 7532291547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate verbs from the given options to fill in the blanks and complete the sentence.

He a young horse that he only bought a week or two previously.
Options :
1. # is driving, did

2. # drove, has



3. % was driving, had
4. # had been driving, has

Question Number : 130 Question Id : 7532291548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate verbs from the given options to fill in the blanks and complete the sentence.

Lives because we have either not been believed or someone too late following up.

Options :

1. ¥ have been lost, was
2. % was lost, had been
3. #* were lost, is

4. # lose, was

Question Number : 130 Question Id : 7532291548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate verbs from the given options to fill in the blanks and complete the sentence.

Lives because we have either not been believed or someone too late following up.
Options :

1. ¥ have been lost, was

2. % was lost, had been

3. # were lost, is

4. ® lose, was

Question Number : 131 Question Id : 7532291549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

He sought to penetrate the reserve in which she had enveloped herself since her father died.



Options :

1. % manually, luckily

2. ¥ persistently, unconsciously
3. # cleverly, singularly

4. # aggressively, suddenly

Question Number : 131 Question Id : 7532291549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

He sought to penetrate the reserve in which she had enveloped herself since her father died.

Options :

1. # manually, luckily

2. ¥ persistently, unconsciously
3. % cleverly, singularly

4. # aggressively, suddenly

Question Number : 132 Question Id : 7532291550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

They used to be as the most cruel and people in the world because of their weird disposition.

Options :

1. # called, tender

2. # noted, rapturous

3. ¥ described, ferocious

4. % expressed, perplexed

Question Number : 132 Question Id : 7532291550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

They used to be as the most cruel and people in the world because of their weird disposition.
Options :

1. # called, tender

2. # noted, rapturous

3. ¥ described, ferocious

4. # expressed, perplexed

Question Number : 133 Question Id : 7532291551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

Lithium-ion batteries were first by Sony in 1991 and have come to be the most rechargeable battery in vehicles.
Options :

1. ¥ marketed, prevalent

2. # monitored, comprehensive

3. #* invested, streamlined

4. % developed, orderly

Question Number : 133 Question Id : 7532291551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

Lithium-ion batteries were first by Sony in 1991 and have come to be the most rechargeable battery in vehicles.
Options :

1. ¥ marketed, prevalent

2. ®# monitored, comprehensive

3. #* invested, streamlined

4. % developed, orderly



Question Number : 134 Question Id : 7532291552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

Lara the retirement as the final result of a long course of dissatisfaction with life.
Options :

1. % pretends, methodical

2. ¥ represents, mundane

3. # renders, contented

4. # subjugates, cynical

Question Number : 134 Question Id : 7532291552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

Lara the retirement as the final result of a long course of dissatisfaction with life.
Options :

1. # pretends, methodical

2. ¥ represents, mundane

3. ® renders, contented

4. # subjugates, cynical

Question Number : 135 Question Id : 7532291553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) Some fats is essential

(i1) In our diet as they give us
(ii1) Energy and helping us
(iv) Absorbs certain vitamins.



Options :

1. % (ii) and (iii)
2. % (i) and (iv)
3. % (i) and (iii)
4. % Only (ii)

Question Number : 135 Question Id : 7532291553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) Some fats 1s essential

(i1) In our diet as they give us
(ii1) Energy and helping us
(iv) Absorbs certain vitamins.
Options :

1. % (ii) and (iii)

2. % (i) and (iv)

3. % (i) and (iii)

4. % Only (ii)

Question Number : 136 Question Id : 7532291554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) My mother and me
(i1) Are planning to visit
(ii1) Our farmhouse at
(1v) This coming Sunday.
Options :

1. % (i), (iii) and (iv)



2. % (i) and (iii)
3. % (ii) and (iv)
4. % Only (i)

Question Number : 136 Question Id : 7532291554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) My mother and me
(i1) Are planning to visit
(ii1) Our farmhouse at
(1v) This coming Sunday.
Options :

1. % (i), (iii) and (iv)

2. % (i) and (iii)

3. ¥ (ii) and (iv)

4. % Only (ii)

Question Number : 137 Question Id : 7532291555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) I am going towards the old market
(i1) as one of my friends

(111) Are waiting for

(iv) Myself outside the church gate.
Options :

1. ® (i) and (iii)

2. % (iii) and (iv)

3. 9 (i) and (ii)



4. % (ii) and (iv)

Question Number : 137 Question Id : 7532291555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) I am going towards the old market
(i1) as one of my friends

(ii1) Are waiting for

(iv) Myself outside the church gate.
Options :

1. * (i) and (iii)

2. % (iii) and (iv)

3. % (i) and (ii)

4. % (ii) and (iv)

Question Number : 138 Question Id : 7532291556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) About 10 billion litres of

(i1) Ethanol will being required each

(111) Year to meet the 20 percent

(iv) Ethanol-blended fuel standard by 2025.

Options :

1. # Only (ii)

2. % (i), (iii) and (iv)
3. % (ii) and (iv)

4. % (i) and (iii)



Question Number : 138 Question Id : 7532291556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(i) About 10 billion litres of

(i1) Ethanol will being required each

(i11) Year to meet the 20 percent

(iv) Ethanol-blended fuel standard by 2025.

Options :

1. #® Only (ii)

2. ¥ (i), (iii) and (iv)
3. % (ii) and (iv)

4. ® (i) and (iii)

Question Number : 139 Question Id : 7532291557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.
Options :

1. # We are probably the only roommates in Tulsa with so elder fashioned rules.

2. % We are the only probably roommates in Tulsa with such old fashioned rules.

3. ® We are probably the only roommates in Tulsa off such old fashioned rules.

4. ¥ We are probably the only roommates in Tulsa with such old fashioned rules.

Question Number : 139 Question Id : 7532291557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.
Options :

1. # We are probably the only roommates in Tulsa with so elder fashioned rules.

2. # We are the only probably roommates in Tulsa with such old fashioned rules.



3. % We are probably the only roommates in Tulsa off such old fashioned rules.

4. ¥ We are probably the only roommates in Tulsa with such old fashioned rules.

Question Number : 140 Question Id : 7532291558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.

Options :

1. #® Both men rose from the bench as well as moved away together as if been the same idea seized them.
2. % Both men rising from the bench and together moved away as if seized by the same idea.

3. ¥ Both men rose from the bench and moved away together as if they were seized by the same idea.

4. ® Both men raise from the bench and moved off together as if seized by the same idea.

Question Number : 140 Question Id : 7532291558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.

Options :

1. ® Both men rose from the bench as well as moved away together as if been the same idea seized them.
2. % Both men rising from the bench and together moved away as if seized by the same idea.

3. ¥ Both men rose from the bench and moved away together as if they were seized by the same idea.

4. ® Both men raise from the bench and moved off together as if seized by the same idea.
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Question Number : 141 Question Id : 7532291559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.

Options :

1. ¥ When Davis first saw his brother, he was holding the hand of a child who sold apples on Essex street.

2. % When Davis first seen his brother, he was holding the hand of a children who sold apples on Essex street.
3. ¥ When Davis first saw his brother, he held the hand of a child which sold apples on Essex street.

4. ¥ When Davis firstly saw his brother, he was holding the hand of a child which sell apples on Essex street.

Question Number : 141 Question Id : 7532291559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence from the given options that conforms to Standard English Usage.
Options :



1. ¥ When Davis first saw his brother, he was holding the hand of a child who sold apples on Essex street.

2. ¥ When Davis first seen his brother, he was holding the hand of a children who sold apples on Essex street.
3. ¥ When Davis first saw his brother, he held the hand of a child which sold apples on Essex street.

4. % When Davis firstly saw his brother, he was holding the hand of a child which sell apples on Essex street.

Question Number : 142 Question Id : 7532291560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.

Options :

1. #® Anxiety disorders different form normal feelings of nervousness or anxiousness, and involves excessive fear or anxiety.
2. ¥ Anxiety disorders differ from normal feelings of nervousness or anxiousness, and involve excessive fear or anxiety.

3. # Anxiety disorders differ with normal feelings of nervousness or anxiousness, and excess fear or anxiety involved.

4. ® Anxiety disorders are different from normal feelings of nervousness or anxiousness, and involving excessive fear or anxiety.

Question Number : 142 Question Id : 7532291560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.

Options :

1. ¥ Anxiety disorders different form normal feelings of nervousness or anxiousness, and involves excessive fear or anxiety.
2. ¥ Anxiety disorders differ from normal feelings of nervousness or anxiousness, and involve excessive fear or anxiety.

3. #® Anxiety disorders differ with normal feelings of nervousness or anxiousness, and excess fear or anxiety involved.

4. ® Anxiety disorders are different from normal feelings of nervousness or anxiousness, and involving excessive fear or anxiety.

Question Number : 143 Question Id : 7532291561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.

Options :

1. # Both women took the knives, and handled those with awkwardness borne of a lacking of familiarity with handle of deadly weapons.

2. % Both women took the knives, handled them with awkwardness born of a lack of familiarity with handling weapons deadly.



3. ¥ Both women took the knives, handling them with awkwardness borne of a lack of familiarity with handling deadly weapons.

4. % Both women taken the knives, handling them with awkwardness borne with a lack of familiarity of handling dead weapons.

Question Number : 143 Question Id : 7532291561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.

Options :

1. ® Both women took the knives, and handled those with awkwardness borne of a lacking of familiarity with handle of deadly weapons.
2. % Both women took the knives, handled them with awkwardness born of a lack of familiarity with handling weapons deadly.

3. ¥ Both women took the knives, handling them with awkwardness borne of a lack of familiarity with handling deadly weapons.

4. % Both women taken the knives, handling them with awkwardness borne with a lack of familiarity of handling dead weapons.

Question Number : 144 Question Id : 7532291562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

A plumber will fix all the pipes.

Options :

1. # All the pipes should be fixed by a plumber.

2. # Fixing of all pipes would be done by a plumber.
3. ¥ All the pipes will be fixed by a plumber.

4. % All the pipes would been fixed by a plumber.

Question Number : 144 Question Id : 7532291562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

A plumber will fix all the pipes.



Options :

1. #® All the pipes should be fixed by a plumber.

2. # Fixing of all pipes would be done by a plumber.
3. ¥ All the pipes will be fixed by a plumber.

4. % All the pipes would been fixed by a plumber.

Question Number : 145 Question Id : 7532291563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Pratima eats boiled vegetables in the morning.

Options :

1. # Vegetables that are boiled will be eaten by Pratima.

2. # Boiled vegetables being eaten by Pratima in the morning.

3. # Boiled vegetables in the morning had been eaten by Pratima.

4. ¥ Boiled vegetables are eaten by Pratima in the morning.

Question Number : 145 Question Id : 7532291563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Pratima eats boiled vegetables in the morning.

Options :

1. #® Vegetables that are boiled will be eaten by Pratima.

2. % Boiled vegetables being eaten by Pratima in the morning.

3. # Boiled vegetables in the morning had been eaten by Pratima.

4. ¥ Boiled vegetables are eaten by Pratima in the morning.

Question Number : 146 Question Id : 7532291564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

You might not catch the train.

Options :

1. #® The train may not be caught by you.

2. ¥ The train might not be caught by you.

3. # The train must not been caught by you.

4. ® The catching of the train might not happen.

Question Number : 146 Question Id : 7532291564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

You might not catch the train.

Options :

1. # The train may not be caught by you.

2. % The train might not be caught by you.

3. % The train must not been caught by you.

4. % The catching of the train might not happen.

Question Number : 147 Question Id : 7532291565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

The real estate project is being handled by Priya.
Options :
1. #® Priya had been handling the real estate project.



2. ¥ Priya is handling the real estate project.
3. % Priya handles the real estate project.
4. # Priya has been handling the real estate project.

Question Number : 147 Question Id : 7532291565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

The real estate project is being handled by Priya.
Options :

1. ® Priya had been handling the real estate project.
2. ¥ Priya is handling the real estate project.

3. # Priya handles the real estate project.

4. ® Priya has been handling the real estate project.

Question Number : 148 Question Id : 7532291566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

The new research has investigated the potential use of a renewable polymer.

Options :

1. ¥ The potential use of a renewable polymer has been investigated by the new research.
2. % Use of a potential renewable polymer was investigated by the new research.

3. # The potential use of a renewable polymer had been investigated by the new research.

4. # Use of a potential renewable polymer is investigated by the new research.

Question Number : 148 Question Id : 7532291566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

The new research has investigated the potential use of a renewable polymer.

Options :

1. ¥ The potential use of a renewable polymer has been investigated by the new research.
2. # Use of a potential renewable polymer was investigated by the new research.

3. % The potential use of a renewable polymer had been investigated by the new research.

4. % Use of a potential renewable polymer is investigated by the new research.

Question Number : 149 Question Id : 7532291567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Please bake the cake before heading back to home.

Options :

1. ¥ You are requested to bake the cake before heading back to home.
2. ® You are suggested baking the cake before heading home.

3. # Let the cake being baked by you before heading back to home.
4. ® Let the cake bake by you before heading back to home.

Question Number : 149 Question Id : 7532291567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Please bake the cake before heading back to home.

Options :

1. ¥ You are requested to bake the cake before heading back to home.
2. # You are suggested baking the cake before heading home.

3. # Let the cake being baked by you before heading back to home.



4. # Let the cake bake by you before heading back to home.

Question Number : 150 Question Id : 7532291568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The caretaker says, “I will go to Hyderabad.”

Options :

1. ® The caretaker tells he might be going to Hyderabad.

2. ¥ The caretaker says that he will go to Hyderabad.

3. ® The caretaker says that he would be going to Hyderabad.
4. ® The caretaker said that he will be going to Hyderabad.

Question Number : 150 Question Id : 7532291568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The caretaker says, “I will go to Hyderabad.”

Options :

1. # The caretaker tells he might be going to Hyderabad.

2. ¥ The caretaker says that he will go to Hyderabad.

3. % The caretaker says that he would be going to Hyderabad.
4. ® The caretaker said that he will be going to Hyderabad.

Question Number : 151 Question Id : 7532291569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.



He told her that he had got engaged the previous day.
Options :

1. #® He says, “I have got engaged the previous day.”
2. % He tells her, “I had got engaged yesterday.”

3. ¥ He said to her, “I got engaged yesterday.”

4. ® He said, “I am getting engaged the previous day.”

Question Number : 151 Question Id : 7532291569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

He told her that he had got engaged the previous day.
Options :

1. # He says, “I have got engaged the previous day.”
2. % He tells her, “I had got engaged yesterday.”

3. % He said to her, “I got engaged yesterday.”

4. % He said, “I am getting engaged the previous day.”

Question Number : 152 Question Id : 7532291570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The secretary said to his employee, “Don’t show me your face.”

Options :

1. #® The employee was ordered by the secretary that not show him his face.
2. # The secretary urged his employee to not show him his face.

3. # The employee was ordered to not show him his face.

4. ¥ The secretary ordered his employee not to show his face.



Question Number : 152 Question Id : 7532291570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The secretary said to his employee, “Don’t show me your face.”

Options :

1. # The employee was ordered by the secretary that not show him his face.
2. # The secretary urged his employee to not show him his face.

3. # The employee was ordered to not show him his face.

4. ¥ The secretary ordered his employee not to show his face.

Question Number : 153 Question Id : 7532291571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

My doctor said, “Take these medicines in the morning.”

Options :

1. ® My doctor says that you should take those medicines in the morning.
2. % My doctor recommended to take those medicines in the morning.

3. % My doctor said that take these medicines in the morning.

4. % My doctor pleased to take these medicines in the morning.

Question Number : 153 Question Id : 7532291571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

My doctor said, “Take these medicines in the morning.”



Options :

1. ® My doctor says that you should take those medicines in the morning.
2. ¥ My doctor recommended to take those medicines in the morning.

3. ¥ My doctor said that take these medicines in the morning.

4. ® My doctor pleased to take these medicines in the morning.

Question Number : 154 Question Id : 7532291572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

“Alas! I lost my son yesterday.” The woman said

Options :

1. ¥ The woman exclaimed with sorrow that she had lost her son the previous day.
2. % The woman exclaimed in grief that she has lost her son the previous day.

3. # The woman said that Alas! She had lost her son the previous day.

4. % The woman cried that she lost her son yesterday.

Question Number : 154 Question Id : 7532291572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

“Alas! I lost my son yesterday.” The woman said

Options :

1. ¥ The woman exclaimed with sorrow that she had lost her son the previous day.
2. #® The woman exclaimed in grief that she has lost her son the previous day.

3. # The woman said that Alas! She had lost her son the previous day.

4. ® The woman cried that she lost her son yesterday.

Question Number : 155 Question Id : 7532291573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The old lady said, “May God give you strength to fight this disease.”

Options :

1. #® The old lady said to God that give you strength to fight this disease.

2. % The old lady prayed to God to give me strength to fight this disease.

3. ¥ The old lady wished that God might give me strength to fight that disease.
4. ® The old lady requested God that to give me strength to fight that disease.

Question Number : 155 Question Id : 7532291573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The old lady said, “May God give you strength to fight this disease.”

Options :

1. # The old lady said to God that give you strength to fight this disease.

2. # The old lady prayed to God to give me strength to fight this disease.

3. ¥ The old lady wished that God might give me strength to fight that disease.
4. % The old lady requested God that to give me strength to fight that disease.

Question Number : 156 Question Id : 7532291574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

The balloon cannot
P: be transferred with any
Q: degree of certainty from



R: surface to another
S: one point of the earth's

Options :

1. # PSQR
2. % SQRP
3. % QRPS
4. ¥ PQSR

Question Number : 156 Question Id : 7532291574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

The balloon cannot

P: be transferred with any
Q: degree of certainty from
R: surface to another

S: one point of the earth's

Options :

1. ¥ PSQR
2. % SQRP
3. % QRPS
4. ¥ PQSR

Question Number : 157 Question Id : 7532291575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

It was
P: close and they didn't
Q: a village could be this



R: hard to believe
S: know it was there

Options :

1. # QRSP
2. ¥ RQPS
3. ¥ PSQR
4. % QSPR

Question Number : 157 Question Id : 7532291575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

It was

P: close and they didn't
Q: a village could be this
R: hard to believe

S: know it was there

Options :

1. ¥ QRSP
2. ¥ RQPS
3. % PSQR
4. % QSPR

Question Number : 158 Question Id : 7532291576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

The faculty members
P: avoided talking about race
Q: believed search committees



R: in our study described
S: a variety of reasons they

Options :

1. # SPQR
2. % PQRS
3. ¥ RSQP
4. ¥ PRSQ

Question Number : 158 Question Id : 7532291576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

The faculty members

P: avoided talking about race
Q: believed search committees
R: in our study described

S: a variety of reasons they

Options :

1. # SPQR
2. % PQRS
3. ¥ RSQP
4. % PRSQ

Question Number : 159 Question Id : 7532291577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

P: In order to draw air into its mouth, the frog lowers the floor of its mouth.

Q: This causes the throat to expand.

R: Then the nostrils open allowing air to enter the enlarged mouth.

S: The nostrils then close and the air in the mouth is forced into the lungs by contraction of the floor of the mouth.



Options :

1. # SRQP
2. % RQPS
3. ¥ PQRS
4. # RPSQ

Question Number : 159 Question Id : 7532291577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

P: In order to draw air into its mouth, the frog lowers the floor of its mouth.

Q: This causes the throat to expand.

R: Then the nostrils open allowing air to enter the enlarged mouth.

S: The nostrils then close and the air in the mouth is forced into the lungs by contraction of the floor of the mouth.

Options :

1. % SRQP
2. % RQPS
3. ¥ PQRS
4. % RPSQ

Question Number : 160 Question Id : 7532291578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

P: Faba bean is grown and marketed for its edible seeds.

Q: Faba beans are sold for both human consumption and for livestock feed or fodder.
R: Faba beans are a pulse crop that is part of the legume family.

S: They can be purchased fresh in the pod or in a fresh cold sealed pack.

Options :

1. # PSQR



2. ¥ RPSQ
3. % PSRQ
4. % SQPR

Question Number : 160 Question Id : 7532291578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

P: Faba bean is grown and marketed for its edible seeds.

Q: Faba beans are sold for both human consumption and for livestock feed or fodder.
R: Faba beans are a pulse crop that is part of the legume family.

S: They can be purchased fresh in the pod or in a fresh cold sealed pack.

Options :
1. ¥ PSQR
2. % RPSQ
3. # PSRQ
4. % SQPR
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Question Number : 161 Question Id : 7532291579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

P: The facility will consist mostly of ponds and burrows for the semiaquatic creatures.

Q: Australia is set to open the world’s first platypus sanctuary in order to help the native species from going extinct.

R: By 2022, the Taronga Conservation Society Australia and the New South Wales State government will open the specialist facility.
S: The duck-billed platypusis is facing extinction due to bush fires and drought linked to the climate crisis.

Options :

1. ¥ QSRP
2. % PQRS
3. % RSQP
4. * SPRQ

Question Number : 161 Question Id : 7532291579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.



P: The facility will consist mostly of ponds and burrows for the semiaquatic creatures.

Q: Australia is set to open the world’s first platypus sanctuary in order to help the native species from going extinct.

R: By 2022, the Taronga Conservation Society Australia and the New South Wales State government will open the specialist facility.
S: The duck-billed platypusis is facing extinction due to bush fires and drought linked to the climate crisis.

Options :

1. ¥ QSRP
2. % PQRS
3. % RSQP
4. % SPRQ

Question Number : 162 Question Id : 7532291580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

P: It’s an opportunity we can’t afford to miss.

Q: At least 25 percent of today’s global warming is driven by methane from human actions.

R: One of the largest methane sources is the oil and gas industry.

S: Cutting methane emissions is the fastest opportunity we have to adopt immediately to slow the rate of global warming.

Options :

1. # RSQP
2. % RPQS
3. ¥ QSRP
4. ¥ SPQR

Question Number : 162 Question Id : 7532291580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

P: It’s an opportunity we can’t afford to miss.
Q: At least 25 percent of today’s global warming is driven by methane from human actions.



R: One of the largest methane sources is the oil and gas industry.
S: Cutting methane emissions is the fastest opportunity we have to adopt immediately to slow the rate of global warming.

Options :

1. # RSQP
2. % RPQS
3. ¥ QSRP
4. ¥ SPQR

Question Number : 163 Question Id : 7532291581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the genre of H.G. Wells' “The Invisible Man™?
Options :

1. # Tragedy

2. % Magic Realism

3. ¥ Science fiction

4. % Detective fiction

Question Number : 163 Question Id : 7532291581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the genre of H.G. Wells' “The Invisible Man”?
Options :

1. # Tragedy

2. % Magic Realism

3. ¥ Science fiction

4. % Detective fiction

Question Number : 164 Question Id : 7532291582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which ancient text from the Indian subcontinent is related with theatre?



Options :

1. # Rigveda

2. # Ayurveda

3. ¥ Natyashastra
4. ¥ Mahabharata

Question Number : 164 Question Id : 7532291582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which ancient text from the Indian subcontinent is related with theatre?
Options :

1. % Rigveda

2. % Ayurveda

3. ¥ Natyashastra

4. ¥ Mahabharata

Question Number : 165 Question Id : 7532291583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aphra Behn belongs to which period in English Literature?
Options :

1. # Romantic Period

2. # Victorian Period

3. ¥ Renaissance

4. ¥ The Restoration Period

Question Number : 165 Question Id : 7532291583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Aphra Behn belongs to which period in English Literature?
Options :

1. * Romantic Period



2. * Victorian Period
3. # Renaissance
4. % The Restoration Period

Question Number : 166 Question Id : 7532291584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The movie “Earth” by Deepa Mehta was an adaptation of which novel written by Bapsi Sidhwa?
Options :

1. ¥ Ice — Candy Man

2. # The Bride

3. # The Satanic Verses

4. # In Custody

Question Number : 166 Question Id : 7532291584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The movie “Earth” by Deepa Mehta was an adaptation of which novel written by Bapsi Sidhwa?
Options :

1. ¥ Ice — Candy Man

2. # The Bride

3. # The Satanic Verses

4. % In Custody

Question Number : 167 Question Id : 7532291585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which game was used as a metaphor by Lewis Caroll in “Through the Looking Glass™?
Options :

1. # Solitaire

2. ¥ Chess

3. % Checkers



4. # Shogi

Question Number : 167 Question Id : 7532291585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which game was used as a metaphor by Lewis Caroll in “Through the Looking Glass”?
Options :

1. % Solitaire

2. ¥ Chess

3. # Checkers

4. # Shogi

Question Number : 168 Question Id : 7532291586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the given lines and identify the correct author.

He is the author of the novel “The Arrow of God”. He is a Nigerian novelist, poet and critic known for his criticism of Conrad’s “Heart of
Darkness”.

Options :

1. * Ngugi wa Thiong’o
2. % Chinua Achebe

3. # Derck Walcott

4. % Bessie Head

Question Number : 168 Question Id : 7532291586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the given lines and identify the correct author.

He is the author of the novel “The Arrow of God”. He is a Nigerian novelist, poet and critic known for his criticism of Conrad’s “Heart of
Darkness”.

Options :



1. # Ngugi wa Thiong’o
2. % Chinua Achebe

3. % Derck Walcott

4. % Bessie Head

Question Number : 169 Question Id : 7532291587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many lines does a sonnet has?
Options :

1. % 60

2. % 24

3.9 14

4. % 12

Question Number : 169 Question Id : 7532291587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many lines does a sonnet has?
Options :

1. % 60

2. %24

3. 14

4. % 12

Question Number : 170 Question Id : 7532291588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following poems is NOT written by Sylvia Plath?
Options :

1. # Daddy

2. % Fire and Ice



3. % Lady Lazarus
4. % Ariel

Question Number : 170 Question Id : 7532291588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following poems is NOT written by Sylvia Plath?
Options :

1. # Daddy

2. % Fire and Ice

3. % Lady Lazarus

4. % Ariel

Question Number : 171 Question Id : 7532291589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a tragedy?
Options :

1. ¥ Macbeth

2. # Oedipus Rex

3. ¥ Pot of Gold

4. % King Lear

Question Number : 171 Question Id : 7532291589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a tragedy?
Options :

1. # Macbeth

2. # Oedipus Rex

3. % Pot of Gold

4. % King Lear



Question Number : 172 Question Id : 7532291590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the novel written by Alice Walker whose protagonist is named Celie?
Options :

1. ¥ The Color Purple

2. % The Temple of my Familiar

3. % Beloved

4. % The Arrow of God

Question Number : 172 Question Id : 7532291590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the novel written by Alice Walker whose protagonist is named Celie?
Options :

1. ¥ The Color Purple

2. % The Temple of my Familiar

3. # Beloved

4. % The Arrow of God

Question Number : 173 Question Id : 7532291591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“The Great Gatsby” was published in
Options :

1. % 1924

2. %1932

3.9 1925

4, % 1922

Question Number : 173 Question Id : 7532291591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“The Great Gatsby” was published in
Options :

1. % 1924

2. %1932

3.9 1925

4, % 1922

Question Number : 174 Question Id : 7532291592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“She is all states and all princes I”’. What is the figure of speech used in the given line?
Options :

1. # Simile

2. ¥ Metaphor

3. % Hyperbole

4. % Personification

Question Number : 174 Question Id : 7532291592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“She is all states and all princes I”. What is the figure of speech used in the given line?
Options :

1. # Simile

2. % Metaphor

3. % Hyperbole

4. % Personification

Question Number : 175 Question Id : 7532291593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



“Tonight I can write the saddest lines./ Write for example, “The night is shattered and the blue star shiver in the distance.”/ The night wind
revolves in the sky and sings”. Which poet wrote these famous lines?

Options :

1. # William Wordsworth
2. # Sylvia Plath

3. % Pablo Neruda

4. # T.S. Eliot

Question Number : 175 Question Id : 7532291593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Tonight I can write the saddest lines./ Write for example, “The night is shattered and the blue star shiver in the distance.”/ The night wind
revolves in the sky and sings”. Which poet wrote these famous lines?

Options :

1. # William Wordsworth
2. # Sylvia Plath

3. % Pablo Neruda

4. # T.S. Eliot

Question Number : 176 Question Id : 7532291594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From Partition Literature, match the novels with their correct authors.

[ | Train to Pakistan 1 | Amrita Pritam

[ B]

II | India Divided Anita Desai

IIT | Clear Light of Day | 3 | KhushwantSingh

[V | Pinjar 4 | Rajendra Prasad




Options :

l.*¥I1-410-1,1T-2,1IV-3
2. -3 11-411-2,1V-1
3% I-1,I1-3,I1-4,IV-2
4, % 1-3,11-2,1II-4,IV -1

Question Number : 176 Question Id : 7532291594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From Partition Literature, match the novels with their correct authors.

[ | Train to Pakistan 1 | Amrita Pritam

II | India Divided Anita Desai

I-J

III | Clear Light of Day | 3 | Khushwant Singh

IV | Pinjar 4 | Rajendra Prasad

Options :

l.*¥I1-410-1,1T1-2,1V-3
2. -3 11-411-2,1IV-1
3% I-1,I1-3,I1-4,1V-2
4, % 1-3,11-2,1II-4,IV -1

Question Number : 177 Question Id : 7532291595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The protagonist in “Metamorphosis” transforms into a
Options :

1. # reptile



2. * bear
3. % an insect
4. % bee

Question Number : 177 Question Id : 7532291595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The protagonist in “Metamorphosis” transforms into a
Options :

1. % reptile

2. # bear

3. % an insect

4. % bee

Question Number : 178 Question Id : 7532291596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was Madame Bovary in the novel written by Gustave Flaubert?

[. Emma Bovary
II. Charles’ maid
III. Charles’ wife
IV. Charles’ mother

Options :

. # Tand IV

2. % Il and III

3. % LIland IV
4. % [, 1II and IV

Question Number : 178 Question Id : 7532291596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was Madame Bovary in the novel written by Gustave Flaubert?



I. Emma Bovary
II. Charles’ maid
III. Charles’ wife
IV. Charles’ mother

Options :

1. % Tand IV

2. % Il and III

3. % I,IIand IV
4. ¢ 1,1l and IV

Question Number : 179 Question Id : 7532291597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct?

I. Mary Ann Evans wrote under the pen name George Eliot.
I1. She wrote the novel titled “The Mill on the Floss”.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 179 Question Id : 7532291597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct?

I. Mary Ann Evans wrote under the pen name George Eliot.
II. She wrote the novel titled “The Mill on the Floss”.

Options :
1. % Only I
2. % Only II



3.4 BothIand II
4. % Neither [ nor 11

Question Number : 180 Question Id : 7532291598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Our birth is but a sleep and a forgetting:/ The Soul that rises with us, our life’s star,/ Hath had elsewhere its sitting,/ And cometh from afar:”
These lines are taken from which poem?

Options :

1. # The Love Song of J.Alfred Prufrock
2. % The Canonisation

3. % QOde : Intimations of Immortality

4. % Crow

Question Number : 180 Question Id : 7532291598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Our birth is but a sleep and a forgetting:/ The Soul that rises with us, our life’s star,/ Hath had elsewhere its sitting,/ And cometh from afar:”
These lines are taken from which poem?

Options :

1. # The Love Song of J.Alfred Prufrock
2. % The Canonisation

3. % QOde : Intimations of Immortality

4. # Crow
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Question Id : 7532291599 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (181 to 185)

Read the following information carefully and answer the given questions.

Your heart beats around 60 times a minute, delivering nutrients and removing waste from every cell in your body. It has been doing this since you
were in the womb — the heart forms 18 days into foetal development and begins to pump blood about three days later.

But for all we know about this vital organ, researchers are still learning new things about it. The heart is made of cardiac muscle. Unlike some
muscles in the body, we can’t control it. Instead, the heart’s speed is controlled by the autonomic nervous system.

The nerves that relay input about our required heart rate connect to a specialised centre in the wall of the right atrium (one of the heart’s four
chambers), known as the sinoatrial (SA) node.

The SA node is composed of specialised pacemaker cells, which send out an electrical impulse throughout the cardiomyocytes (cardiac cells),
ensuring the heart beats properly.

But the SA node can be dysfunctional. These faults can be acquired or inherited. Acquired dysfunction is more common, often caused by age,

certain medications and lifestyle factors such as increased BMI, diabetes and hypertension. Many people who have a dysfunction may not have
symptoms.



One of the most common symptoms of a dysfunctional SA node, experienced by about two million people a year in the UK, is arrhythmia. This
is where the heart beats too fast, too slow or irregularly. There are a variety of treatment options for arrhythmia including cardioversion,
pacemakers and cardiac ablation.

Sub questions

Question Number : 181 Question Id : 7532291600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In how many days, heart starts to pump blood after its development in our body?
Options :

1. # 2 days

2. % 3 days

3. # 4 days

4. % 5 days

Question Number : 182 Question Id : 7532291601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following questions is NOT answered by the given passage?
Options :

1. % What is sinoatrial node?

2. % What are the causes of acquired dysfunction?

3. % What are the treatment options available for arrhythmia?

4. ¥ How heart pumps blood in our body?

Question Number : 183 Question Id : 7532291602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, which statement is definitely true?
Options :

1. # The speed of heart is regulated by the central nervous system.
2. % The heart beats irregularly during arrhythmia.

3. # The SA node controls the heart muscles.



4. # The faults of SA node being dysfunctional cannot be inherited.

Question Number : 184 Question Id : 7532291603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the word ‘relay’ as used in the passage.
Options :

1. # Support

2. % Inhibit

3. % Convey

4. # Gauge

Question Number : 185 Question Id : 7532291604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements can be inferred from the passage?

I. The symptoms of dysfunctional SA node are not same for every person.
II. We can control all the muscles in our body except heart.

Options :

1. % Only I

2. % Only II

3. % Neither I nor II
4. % Both I and II

Question Id : 7532291599 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (181 to 185)

Read the following information carefully and answer the given questions.

Your heart beats around 60 times a minute, delivering nutrients and removing waste from every cell in your body. It has been doing this since you
were in the womb — the heart forms 18 days into foetal development and begins to pump blood about three days later.

But for all we know about this vital organ, researchers are still learning new things about it. The heart is made of cardiac muscle. Unlike some
muscles in the body, we can’t control it. Instead, the heart’s speed is controlled by the autonomic nervous system.



The nerves that relay input about our required heart rate connect to a specialised centre in the wall of the right atrium (one of the heart’s four
chambers), known as the sinoatrial (SA) node.

The SA node is composed of specialised pacemaker cells, which send out an electrical impulse throughout the cardiomyocytes (cardiac cells),
ensuring the heart beats properly.

But the SA node can be dysfunctional. These faults can be acquired or inherited. Acquired dysfunction is more common, often caused by age,
certain medications and lifestyle factors such as increased BMI, diabetes and hypertension. Many people who have a dysfunction may not have
symptoms.

One of the most common symptoms of a dysfunctional SA node, experienced by about two million people a year in the UK, is arrhythmia. This
is where the heart beats too fast, too slow or irregularly. There are a variety of treatment options for arrhythmia including cardioversion,
pacemakers and cardiac ablation.

Sub questions

Question Number : 181 Question Id : 7532291600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In how many days, heart starts to pump blood after its development in our body?
Options :

1. # 2 days

2. ¥ 3 days

3. # 4 days

4. % 5 days

Question Number : 182 Question Id : 7532291601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following questions is NOT answered by the given passage?
Options :

1. # What is sinoatrial node?

2. % What are the causes of acquired dysfunction?

3. % What are the treatment options available for arrhythmia?

4. ¥ How heart pumps blood in our body?

Question Number : 183 Question Id : 7532291602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



According to the given passage, which statement is definitely true?
Options :

1. ® The speed of heart is regulated by the central nervous system.
2. ¥ The heart beats irregularly during arrhythmia.

3. #® The SA node controls the heart muscles.

4. ® The faults of SA node being dysfunctional cannot be inherited.

Question Number : 184 Question Id : 7532291603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the word ‘relay’ as used in the passage.
Options :

1. ® Support

2. % Inhibit

3. % Convey

4. ® Gauge

Question Number : 185 Question Id : 7532291604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements can be inferred from the passage?

I. The symptoms of dysfunctional SA node are not same for every person.
II. We can control all the muscles in our body except heart.

Options :

1. % Only I

2. % Only II

3. # Neither I nor II

4. % Both I and II

Sub-Section Number : 2
Sub-Section Id : 753229105
Question Shuffling Allowed : Yes



Question Id : 7532291605 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (186 to 190)

Read the following information carefully and answer the given questions.

Mars is known for its thin atmosphere, where CO, dominates and provides most of the atmospheric mass and pressure. Water on Mars is

currently found on the surface as a layer of ice — several kilometres thick — at the north pole. It also appears as seasonal frost at the coldest times
of the year, and in the atmosphere as vapour and ice. Nevertheless, the Martian atmosphere is extremely dry compared to Earth’s, with about 100
times less water. While precipitation on Earth results in water layers several centimetres thick, water that would precipitate on Mars would only
form a thin film of less than a millimetre.

The evidence suggests that Mars was not always the cold, arid planet we observe today. There is plenty of evidence of water on Mars’ surface in
the distant past — about four billion years ago. At that time, liquid water flowed in great streams and stagnated in the form of pools or lakes. For
liquid water to circulate and reside on the surface long enough to leave these marks, there must have been a (A) different climate than the
one we see today. Mars, Earth and Venus probably formed from the gradual accumulation of the same basic materials, which means that they
must have had great similarities early in their history. But while Earth and Venus have retained most of their thick atmosphere, Mars, because of
its small size and low gravity, has lost most of its atmosphere.

Sub questions

Question Number : 186 Question Id : 7532291606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given passage mainly talks about:

Options :

1. ¥ Scarcity of water on the Mars.

2. % The planet Earth and its atmosphere.

3. # The similarities between the Earth and the Mars.

4. # Seasonal weather change on the Venus.

Question Number : 187 Question Id : 7532291607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, which of the following statements is correct?
Options :

1. % The atmosphere of Mars has not changed since its formation.

2. % Mars and Earth shared same basic materials during accumulation.



3. % Both Earth and Venus are unable to retain their thick atmosphere.

4. ¥ The Martian atmosphere is extremely wet compared to the Earth’s atmosphere.

Question Number : 188 Question Id : 7532291608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the context of the passage, which of the following words can be placed in the blank (A)?
Options :

1. # energetically

2. # negatively

3. % suddenly

4. ¥ radically

Question Number : 189 Question Id : 7532291609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Water on Mars is currently found in
Options :

1. # lakes

2. ¥ ice sheet

3. % groundwater

4. # atmosphere

Question Number : 190 Question Id : 7532291610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the word ‘plenty’ as used in the passage.
Options :

1. # Attentuate

2. # Paucity

3. % Bountiful

4. # Sterile



Question Id : 7532291605 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (186 to 190)

Read the following information carefully and answer the given questions.

Mars is known for its thin atmosphere, where CO, dominates and provides most of the atmospheric mass and pressure. Water on Mars is

currently found on the surface as a layer of ice — several kilometres thick — at the north pole. It also appears as seasonal frost at the coldest times
of the year, and in the atmosphere as vapour and ice. Nevertheless, the Martian atmosphere is extremely dry compared to Earth’s, with about 100
times less water. While precipitation on Earth results in water layers several centimetres thick, water that would precipitate on Mars would only
form a thin film of less than a millimetre.

The evidence suggests that Mars was not always the cold, arid planet we observe today. There is plenty of evidence of water on Mars’ surface in
the distant past — about four billion years ago. At that time, liquid water flowed in great streams and stagnated in the form of pools or lakes. For
liquid water to circulate and reside on the surface long enough to leave these marks, there must have been a (A) different climate than the
one we see today. Mars, Earth and Venus probably formed from the gradual accumulation of the same basic materials, which means that they
must have had great similarities early in their history. But while Earth and Venus have retained most of their thick atmosphere, Mars, because of
its small size and low gravity, has lost most of its atmosphere.

Sub questions

Question Number : 186 Question Id : 7532291606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given passage mainly talks about:

Options :

1. ¥ Scarcity of water on the Mars.

2. # The planet Earth and its atmosphere.

3. # The similarities between the Earth and the Mars.

4. # Seasonal weather change on the Venus.

Question Number : 187 Question Id : 7532291607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the given passage, which of the following statements is correct?
Options :

1. # The atmosphere of Mars has not changed since its formation.



2. % Mars and Earth shared same basic materials during accumulation.
3. # Both Earth and Venus are unable to retain their thick atmosphere.

4. ® The Martian atmosphere is extremely wet compared to the Earth’s atmosphere.

Question Number : 188 Question Id : 7532291608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the context of the passage, which of the following words can be placed in the blank (A)?
Options :

1. # energetically

2. ® negatively

3. # suddenly

4. ¥ radically

Question Number : 189 Question Id : 7532291609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Water on Mars is currently found in
Options :

1. # lakes

2. ¥ ice sheet

3. % groundwater

4. ® atmosphere

Question Number : 190 Question Id : 7532291610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the word ‘plenty’ as used in the passage.
Options :

1. # Attentuate

2. # Paucity

3. % Bountiful

4. ® Sterile
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Question Number : 191 Question Id : 7532291611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a characteristic of Learning?
Options :



1. # Continuous process
2. #% Active process
3. # Individualistic

4. # Unintentional

Question Number : 191 Question Id : 7532291611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Fod Ufehar

2. % Hichy Ufchar

3. % fdATd

4. & ATEs®H

Question Number : 192 Question Id : 7532291612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following the babies can feel from birth and can communicate these through facial expressions and body posture?

I. Interest
II. Distress
III. Happiness

Options :

1. # IIand III
2. % Only I

3. % Only III
4. 1,11 and 11T

Question Number : 192 Question Id : 7532291612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % I dYTII
2. % Had Il

3. % Had I11
4. ¢ 1,11 YT III

Question Number : 193 Question Id : 7532291613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following combination is correct?

I. For additional support the child is placed in a resource room — Inclusive education
I1. All the required support will be made available to the students in the regular classroom — Integrated education

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 193 Question Id : 7532291613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % BHad |




2. % Had Il
3. % 1 qYT I aHl
4. BB

Question Number : 194 Question Id : 7532291614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct about Gender differences?

I. They are culturally influenced
II. They are socially constructed

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 194 Question Id : 7532291614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. % Had I

3. ¢ 1 qUTIL A
4. % qEIIATR I

Question Number : 195 Question Id : 7532291615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [1dYT I
2. % Had I
3. % Had 1

4. 1,11 YT I

Question Number : 195 Question Id : 7532291615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By using , as a teacher try to speak English as much of time as you can.

. mime
II. puppets
III. acting

Options :

1. # Il and III
2. % Only II

3. % Only I

4. 1,11 and 11T

Question Number : 196 Question Id : 7532291616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘We have Art all around us.” Which of the following statements satisfy this given statement?

I. The way we dress up
II. The way we display our food
III. The way we stand



Options :

1. # Il and III
2. % [, Il and III
3. % TandIII

4. % Tand II

Question Number : 196 Question Id : 7532291616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [ dUT I

2. 1, I AUT I

3. % [qUTIII

4, % TdYTII

Question Number : 197 Question Id : 7532291617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words in Hindi are so important that you cannot really understand the meaning of the communication unless you give
importance to these words?

L. Isliye
II. Kyonki
III. Usne
IV. Aur

Options :
1. # II, Il and IV
2.¥ LI Il and IV



3. % Tand IV
4. % [, and IV

Question Number : 197 Question Id : 7532291617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1L I dYT IV
2.¢ L IL L dUT IV
3. % 1dUT IV

4, % LI dIT IV

Question Number : 198 Question Id : 7532291618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the characteristic of constructivist approach to Learning and Teaching?
Options :

1. # Opinion, ideas given by the students are accepted and honoured

2. % Focus is not on learning, but on teaching

3. # The environment is democratic

4. # Students make meaning from their own experience

Question Number : 198 Question Id : 7532291618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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3. % GIATaRUl A did aidl &

4. % BT 30 WA & U 37 Fprerd §

Question Number : 199 Question Id : 7532291619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The information or data for assessment of learning can be gathered from various sources using various tools and procedures. Which of the
following are those tools and procedures?

I. Achievement tests
II. Participation of students in classroom and other activities
III. Performance of students on project work

Options :

1. # IIand III
2. % Only I

3. % Tand III

4. 1,11 and 11T

Question Number : 199 Question Id : 7532291619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % I dUTIII




2. % Had
3.% TdUTIII
4.« [ IIdUT I

Question Number : 200 Question Id : 7532291620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The records of student’s learning performance can be best described in relation to the users of the reports. Which of the following are included
under those users?

1. Students and Parents
II. Teachers and Counsellors
II1. Planners and Administrators

Options :

1. # IIand III
2. % Only I
3.9 1, Il and 11
4, % Tand III

Question Number : 200 Question Id : 7532291620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1 dYT I

2. % Had Il

3. 1 11T

4. % 1AYTII







